


CENTRIFUGAL PUMPS 3 sSeries - version
CONTENTS 50 Hz
Rev. E
Page
- SPECIFICATIONS
PUMP SPECIFICATIONS 200
MOTOR SPECIFICATIONS 201
SELECTION CHART 202
SELECTION CHART 203
SELECTION CHART 204
SELECTION CHART 205
PERFORMANCE CHART 3 series - version 32-125 206
PERFORMANCE CHART 3 series - version 32-160 207
PERFORMANCE CHART 3 series - version 32-200 208
PERFORMANCE CHART 3 series - version 40-125 209
PERFORMANCE CHART 3 series - version 40-160 210
PERFORMANCE CHART 3 series - version 40-200 211
PERFORMANCE CHART 3 series - version 50-125 212
PERFORMANCE CHART 3 series - version 50-160 213
PERFORMANCE CHART 3 series - version 50-200 214

PERFORMANCE CHART 3 series - version 65-125 3(L
PERFORMANCE CHART 3 series - version 65-160 3(L

215
216

|
PERFORMANCE CHART 3 series - version 65-200 3(L) 217
PERFORMANCE CHART 3 series - version 65-125 3(B) 218
PERFORMANCE CHART 3 series - version 65-160 3(B) 219
PERFORMANCE CHART 3 series - version 65-200 3(B) 220
- CONSTRUCTIONS
SECTIONAL VIEW 3BM-3M-3LM 300
CONSTRUCTIONS 3M-3LM (no 65 version) 301
CONSTRUCTIONS 3BM-3M-3LM (65 version) 302
SECTIONAL VIEW 3BS-3S-3LS 303
SECTIONAL VIEW 3BS-3S-3LS 304
CONSTRUCTIONS 3S-3LS (no 65 version) 305
CONSTRUCTIONS 3BS-3S-3LS (65 version) 306
SECTIONAL VIEW 3BP-3P-3LP 307
CONSTRUCTIONS 3P-3LP (no 65 version) 308
CONSTRUCTIONS (65 version) 309
CONSTUCTIONS 310
MECHANICAL SEAL 311
MECHANICAL SEAL (HS version & 22) 312
MECHANICAL SEAL (HS version & 30) 313
MECHANICAL SEAL (L version @ 22) 314
MECHANICAL SEAL (L version @ 30) 315
DIAGRAM AND ELECTRIC CONNECTIONS 316
CONSTRUCTIONS 3BS-3S-3LS 317
CONSTRUCTIONS 3BP-3P-3LP 318
CONSTRUCTIONS 319

100

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Series - version
CONTENTS 50 Hz
Rev. E

- DIMENSIONS

DIMENSIONS 3BM-3M-3LM 400

DIMENSIONS 3BM-3M-3LM 401

DIMENSIONS 3BS-3S-3LS 402

DIMENSIONS 3BS-3S-3LS 403

DIMENSIONS 3BS-3S-3LS 404

DIMENSIONS 3BS-3S-3LS 405

DIMENSIONS 3BP-3P-3LP 406

DIMENSIONS 3BP-3P-3LP 407

PACKING AND WEIGHT 3BM-3M-3LM 408

PACKING AND WEIGHT 3BS-3S-3LS 409

PACKING AND WEIGHT 3BP-3P-3LP 410

- TECHNICAL DATA

TECHNICAL DATA 3BM-3M-3LM 500
TECHNICAL DATA 3BS-3S-3LS 501
TECHNICAL DATA 3BP-3P-3LP 502

101

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SerieS - version
P U M P SPECIFICATIONS 50 Hz
Rev. E
PUMP
ONLY FOR
65 VERSION FOR ALL MODELS
Version 3BM 3M 3LM
3BS 3S 3LS
3BP 3P 3LP
Type of liquid Clean water and moderately aggressive fluids
Liquid min. -10 min. -10
Handled Temperature  [° C] max. +90 mla); ;110
max. +110 (H-HS version) '
Maximum working pressure  [MPa] 1

Impeller

Closed centrifugal type [for 32, 40, 50 series]
Reinforced laser welding [for types 40-200/11, 50-200/15]
Closed centrifugal three dimensional blades [for 65 version]

Construction
Shaft seal type

Mechanical seal

Mechanical seal
with

stationary ring
secured

against rotation

Bearing Sealed ball bearing
Pipe Suction-Flange Flange to DIN 2532 (50mm — 65mm - 80mm)
Connection | Discharge-Flange Flange to DIN 2532 (32mm — 40mm — 50mm - 65mm)
Casing EN 1.4301 (AISI 304) '(EA'\I'S1I';“112‘IE)
For all models / EN 1.4301 (AISI EN 1.4404 (AISI
(no 65 version) 304) 316L)
Impeller
Only B EN 1.4401 (AISI 316) Made by
. ronze . .
for 65 Version precision casting
Casing cover EN 1.4301 (AISI 304) EA’\IIS1I§1460I3
Ceramic/Carbon/NBR
Material (3BM-3BS-3BP / 3M-3S-3P)
- Ceramic/Carbon/FPM P
Mechanical seal (3BMH-3BSH-3BPH / 3MH-3SH-3PH) SiC/SiC/IFPM
SiC/SiC/FPM
(3BMHS-3BSHS-3BPHS / 3MHS-3SHS-3PHS)
“O’ring NBR FPM
EN 1.4404
Shaft EN 1.4301 (AISI 304) (AISI 316L)
(Part in contact with liquid) (Part in contact with
liquid)
Bracket Cast iron - Aluminium

Applicable standard of test

ISO 9906 Annex A

200

——J =TT

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3 series - version

M OTO R SPECIFICATIONS

50 Hz

Rev. E

Motor
Electric - TEFC
Type
Single Phase Three Phase

No. of Poles 2
Rotation speed [min™"] ~2900
Insulation Class F
Protection degree IP 55

[kW] 1.1+2.2 1.1+22
Power Rating

[HP] 1.5+3.0 1.5+30
Frequency [Hz] 50

230/400 £10% (up to 4.0 kw)
Voltage [V] 230 +10% 400/690 £10% (5.5 kW and
above)

Capacitor Built in -
Over load protection Built in Provided by the user

Casing material

Aluminium

Dimensions of cable entry

PG 13.5-PG 16 - PG 21 - PG 29 (see dimension p.400-401-402-
403-404-405-407)

Flange mount (IEC motor)

3BS-3S-3LS flange model IM B5 (up to 2.0 kW)
3BS-3S-3LS flange model IM B35 (3.0 kW and above)

3PS-3P-3LP flange model IM B3

201

=TV T

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 series - version

SELECTION CHART 50 Hz
Rev. E
TYPE KEY:
| 3| B[ M [H] 65]|-[160[/] 75] | M|
Single phase only
1.1
1.5
2.2
3
4
5.5
7.5
Motor output in kW 9.2
11
15
18.5
22
. 125
Impeller diameter code 150
200
32
. . 40
Discharge size 50
65
Option for high temperature (110°C) H
HS
M
Model type S
P
For versions |AISI 304 / AISI 304 impeller *
Version 32-40-50 AISI 316L / AISI 316 impeller L
For versions AISI 304 / Bronze impeller B
65 AISI 304 / AISI 316 impeller *
AISI 316L / AISI 316 impeller L
3 Series

*) No indication

202
% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 series - version

SELECTION CHART o0 Hz

Rev. E

3(L)M-3(L)S-3(L)P

Pump type |KW | HP |/min 0 | 100| 150| 200/ 300 333| 360| 400| 450 500/ 600 700
m¥h 0 6 of 12| 18 20| 22| 24| 27/ 30| 36| 42
32-125/1.1(IV|) 1.1 1.5 225 21 19.9 18.4 141 12 - - - - - -
32-160/1.5(M) 1.5 2 29.5| 28 26.5 24.5 19.2 17 - - - - - -
32-16022(M) | 22| 3 37| 355 | 34 | 32 | 27 | 25 - - - - - -
32-200/3.0 3 4 44| 42 40 37.5 31 28 - - - - - -
32-200/4.0 4 | 55 55| 535 | 52 | 495 | 435 | 405 | 38 - - - - -
32-200/5.5 55 7.5 70.5| 69 67.5 65 58.5 - - - - - - -
32-200/7.5 7.5 10 70.5| 69 67.5 65 58.5 55.5 53 49 44 - - -
40-125/1.5(M) 1.5 2 20 - - 19 17.6 17 16.5 15.7 14.5 13.2 10.3 7
40-125/2.2(M) 2.2 3 26.5 - - 25.5 24 23.5 23 22 21 19.5 16.4 13
40-160/3.0 3 4 31 - - 29.5 27.5 27 26.5 25.5 24 22.5 20 17
40-160/4.0 4 5.5 40 - - 38.5 37 36 35.5 34.5 33 32 29 25.5
40-200/5.5 5.5 7.5 47 - - 455 44 43 425 41 39.5 38 35 31
40-200/7.5 7.5 10 58 - - 57 55.5 55 54.5 53.5 52.5 51 47.5 44
40-200/11 1" 15 72 - - 71 70 70 69.5 68.5 67.5 66 63 59

3(L)M-3(L)S-3(L)P

Pump type kW | HP [i/min 0 400| 450| 500/ 600| 700/ 800| 1000| 1200| 1500| 1800| 1900| 2000| 2100| 2200
mh O 24 27 30 36 42 48 60 72 90| 108| 114| 120| 126| 132

50-125/2.2(M) | 2.2 3 19| 175 17 163 | 149 | 134 | 117 8 - - - - - -

50-125/3.0 3 4 22| 20.5 20 19.6 | 184 17 154 | 11.8 8 - - - - -

50-125/4.0 4 5.5 265 26 255 25 24 225 | 215 | 179 14 - - - - -

50-160/5.5 55| 7.5 33| 31 30.5 30 28.5 27 255 22 18 - - - - -

50-160/7.5 7.5 10 40| 38.5 38 375 36 35 33.5 30 26 - - - - - -
50-200/9.2 9.2 | 12,5 53 - - 50 49 47.5 | 455 | 405 34 - - - - - -
50-200/11 11 15 59 - - 56 55 54 52 48 42 - - - - - -
50-200/15 15 20 72 - - 70 69 68 66 62 57 - - - - - -
65-125/4.0 4 5.5 225 - - - 20 194 | 185 | 16,5 | 143 | 107 7 - - - -
65-125/5.5 55| 7.5 27 - - - 25 245 | 235 | 215 | 191 | 1565 | 11.7 | 104 - - -
65-125/7.5 7.5 10 32 - - - 305 | 295 29 27 245 21 16.8 | 154 14 - -
65-160/7.5 7.5 10 32 - - - - 30 29 27 255 | 215 | 175 16 14.5 -

65-160/9.2 9.2 | 12,5 36.5 - - - - 345 34 32 295 26 215 20 18.6 17 -
65-160/11 11 15 40.5 - - - - 38.5 38 36 34 30.5 26 245 23 215 20
65-160/15 15 20 48 - - - - 45.5 45 43 41 375 | 335 32 30.5 29 27
65-200/15 15 20 54 - - - - 51 50 48 455 41 36 34 32 30 -
65-200/18.5 18.5| 25 60.5 - - - - 585 | 575 | 555 53 49 44 425 | 405 39 37
65-200/22 22 30 67 - - - - 65.5 65 63 60.5 | 56.5 52 50.5 | 48.5 47 45

203

% E2ARA EBARA PUMPS EUROPE S.p.A.




3 series - version

CENTRIFUGAL PUMPS

SELECTION CHART 50 Hz
Rev. E
3BM-3BS-3BP
Pump type Motor Q=Capacity
3BM kW | HP | /min 0| 600 | 700 | 900 | 1200 | 1500 | 1800 | 1900 | 2000 | 2100 | 2200
22§ m3h 0| 36 42 54 72 90 | 108 | 114 | 120 | 126 | 132
H=Total manometric head in meters
B(.)65-125/4 4 5.5 22.5 202 | 194 | 175 | 143 | 107 7 - - - -
B(.)65-125/5.5 55 | 7.5 27 255 | 244 | 224 | 191 | 155 | 11.7 | 104 - - -
B(.)65-125/7.5 7.5 10 32 305 | 29.7 | 278 | 245 | 20.8 16.8 | 154 14 - -
B(.)65-160/7.5 7.5 10 32 - 30 28.3 254 | 21.7 17.5 16 145 - -
B(.)65-160/9.2 9.2 | 125 36.5 - | 345 | 328 | 297 | 26 | 217 | 202 | 186 | 17 -
B(.)65-160/11 11 15 40.5 - 38.5 37 33.9 | 30.3 26 246 | 231 21.6 20
B(.)65-160/15 15 20 48 - 455 44 411 37.7 | 335 32 30.5 | 28.8 27
B(.)65-200/15 15 20 54 - 51 49 454 41 35.9 34 321 30 -
B(.)65-200/18.5 18.5 25 60.5 - 58.5 | 56.5 53 489 | 441 424 | 40.7 | 38.9 37
B(.)65-200/22 22 30 67 - 655 | 639 | 606 | 56.6 | 52.1 50.4 | 48.7 | 46.9 45

PERFORMANCE CURVES

The specifications below qualify the curves shown on the following pages.

& Tolerances according to ISO 9906 Annex A

€ The curves refer to effective speed of asynchronous motors at 50 Hz
¢ Measurements were carried out with clean water at 20°C of temperature and with a kinematic viscosity
of v=1mm?%s (1 cSt)
¢ The NPSH curve is an average curve obtained in the same conditions of performance curves.
During the pump selection, consider to get a safety margin of at least 0.5 m.
4 The continuos curves indicate the recommended working range. The dotted curve is only a guide.
¢ In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10%
of best efficiency point.
4 Symbols explanation:

Q = volume flow rate

H = total head

P2 =

n = pump efficiency
NPSH =

pump power input (shaft power)

net positive suction head required by the pump

204

=TV T

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series - version

SELECTION CHART o0 Hz

Rev. E

U.S.g.p.m. 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700

Imp.g.p.m. 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600

100
— 300
T 250 |
(] — [T — — i
60 32‘200/55 N~ 40\200;~\‘ 50?.§~. 200
L p s AN 200359 655
o TP TSl e s
|| ool 1 %, 95N
N T % 77 '155\ | N
40 52 e ¥ i O\Q N 20 NN
2=200/3,0 20 P ] 72N 75
‘ L (05 B o7 2N /
52\7 ~ ) .~ N N 1 YN
5 22 G NN 100
Tt 0 NI 76 NEF ONL 75
- 20 DAL N7/
—— ~_ 53 N/ ‘
52\760/7’5 N ] 5%\ N |
N f 2 BN 75
~/ | N 0 N \
20 — / NG N =
~125/1 1T 2NN ‘%\5 wﬁp\‘ \!/
N BN NN X
N ENINEIN NG
N N N\ s it
2 N I
> N2 -0
%) I B ZAN
w NI NN
N\ T o\ —30
; \ [
—25
7
/
6 — 20
[ [ /
: [
100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500 3000
Q [I/min]
I I I
6 7 8 910 12 14 16 18 20 25 30 40 50 60 70 100 150
Q [m3/h]

205

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3 series - version

PERFORMANCE CURVE 50 Hz
Rev. E
32-125/1.1 (1.1 kW) — Impeller diameter = 133 mm
0 USgpm. 20 30 40 50 60 70 80 90 100
| | | | | | | | | | |
| | | | | | | | |
0 Imp.g.p.m. 20 30 40 50 60 70 80
25 80
H = —_ H
[m] " - ~ — 70 [#]
~ 725
. 7\ 60
N
S
15 ~N— - 50
NG
\1 — 40
10
NPSH 30
[m] [ft]
6——20 20
5 54
L pllndl
NPSH —— = 311010
2_
(5
0 0
0 50 100 150 200 250 300 350 Q [I/min]
| 1 1 1 | | | | | | |
0 2 6 8 10 12 14 16 18 20 22 Q[mm)]
1.6
P2 -
[kw] ™ 125/1.1
0.8 =T
0.4
0 50 100 150 200 250 300 350 Q [I/min]
i T
7 60 = =125/1.1
50 T
S
40
30
0 50 100 150 200 250 300 350 Q [I/min]
Rotation speed: ~2900 min™'
Applicable standard of test: ISO 9906 - Annex A
206

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series - version

PERFORMANCE CURVE o0 Hz

Rev. E

32-160/1.5 (1.5 kW) — Impeller diameter = 151 mm
32-160/2.2 (2.2 kW) — Impeller diameter = 166 mm

0 USgpm. 20 30 40 50 60 70 80 90 100
| | | | | | | | | | |
| T T T T 1 T T T
0 Imp.g.p.m. 20 30 40 50 60 70 80
40 130
H — = —120 H
[m] 35 T— [#]
75 110
220
N
01— 100
L -
~ ‘\\ —90
7,
25 \=5\0/7 5 ; s
NP |
N
2 NG [m] [11]
N - 60
~ 7B
2
15 5 150
NPSH L
— - 40
5
10
0 50 100 150 200 250 300 350 Q [I/min]
| T T T T T T T T T T T |
0 2 4 6 8 10 12 14 16 18 20 22 Q[m3/h]
2.4
L ——=160/2.2
°2 20 — n | |/\
kW — .
[ku] 1.6 — — 160/1.5
1.2 o —
0.8
0 50 100 150 200 250 300 350 Q [I/min]
70
: 177
L ~160,/2.2
[%]) 60 e =160/1.5
50 —
40
0 50 100 150 200 250 300 350 Q [I/min]
Rotation speed: ~2900 min™'
Applicable standard of test: ISO 9906 - Annex A
207

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series - version

PERFORMANCE CURVE 50 Hz
Rev. E
32-200/3.0 (3.0 kW) — Impeller diameter = 186 mm
32-200/4.0 (4.0 kW) — Impeller diameter = 200 mm
32-200/5.5 (5.5 kW) — Impeller diameter = 224 mm
32-200/7.5 (7.5 kW) — Impeller diameter = 224 mm
0 USgpm. 60 90 100 110 120 130
| | | | | | |
| T T T T 1 |
0 Imp.g.p.m. 50 70 80 90 100 10
80 - 260
H —240 H
[m] 70 [ft]
- 220
I
60 - 200
\\\
I —180
50
‘@2/4‘ b 200/75 160
1T N NPSH 140
40 ™ (m] [f]
200 n
< g 120
A
620
A n
30 \\' = 4__15 100
NPSH T 1
2 — 80
-5
20
0 50 100 150 200 250 300 350 400 450  Q [I/min]
| T T T T T T T T T T T T T T |
0 2 4 6 8 0 12 14 16 18 20 22 24 26 28 Q[mIn]
8
[TTT] HEN
P2 5
200/ :
6 - / 200/7.5
4 =T 200/4.0
200/3.0
2 L i L L L
0 50 100 150 200 250 300 350 400 450 Q [I/min]
neo N N [1171200/4.0 111
50 = == 200/7.5
(%] //j 200/5.5 200/3.0
//
40 =
5 e~
20
0 50 100 150 200 250 300 350 400 450 Q [I/min]
Rotation speed: ~2900 min™'
Applicable standard of test: ISO 9906 - Annex A
208

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series - version

PERFORMANCE CURVE o0 Hz

Rev. E

40-125/1.5 (1.5 kW) — Impeller diameter = 125 mm
40-125/2.2 (2.2 kW) — Impeller diameter = 140 mm

0 USgpm. 40 60 80 100 120 140 160 180 200
| | | | | | | | | | |
| T T T T 1 T T T
0 Imp.g.p.m. 40 60 80 100 120 140 160
30
90
H Bt H
[m] 25 e Lo [
20
™ 70
20 e
~—_ - 60
<5 N
15 ‘\\\ y
3 40
NPSH
10 ~
3 [m] [ft]L30
™S 2%
7_
20|20
5 S5
NPSH - = 3410 |10
5
0 0
0 100 200 300 400 500 600 700 Q [I/min]
| T T T T T T T T T T T |
0 4 8 12 16 20 24 28 32 3 40 44 Q[m3h)
3
P, BN
125/2.2 1|
w2 I ——— 25/2.
1 125/1.57 ]
0
0 100 200 300 400 500 600 700 Q [1/min]
80
n — ~
B T ~—
[7] 70 = y ~125/2.277]
/ L
60
r 125/1.5 | |
50 .
0 100 200 300 400 500 600 700 Q [I/min]
Rotation speed: ~2900 min™'
Applicable standard of test: ISO 9906 - Annex A
209

EBARA PUMPS EUROPE S.p.A.



3 series - version

CENTRIFUGAL PUMPS

PERFORMANCE CURVE 50 Hz
Rev. E
40-160/3.0 (3.0 kW) — Impeller diameter = 151 mm
40-160/4.0 (4.0 kW) — Impeller diameter = 166 mm
0 USgpm. 40 60 80 100 120 140 160 180 200
| | | | | | | | | | |
| | | | | | | T 1
" 0 Imp.g.p.m. 40 60 80 100 120 140 160
—140
H o H
— =T —130 [t
[m] . [#]
— 120
S~/
35 % io
~N 110
I~
30— == ™ 100
~_/ ~ - 90
N0
25 ~Jo
N —80
N
‘\\
NPSH 70
20 ~ [m] [#4]
- b — 60
2
15 515 — 50
NPSH —
30,
15
10
0 100 200 300 400 500 600 700 Q [I/min]
| | 1 T | | | | | | | | |
0 4 8 12 16 20 24 28 32 36 40 44 Q [m/n)]
5
[ 1]
P2 4 160/4.0 1
[kw] L 1
3 —— 160/3.0 ]
2 — —
1
0 100 200 300 400 500 600 700 Q [I/min]
80
: 1]
— ~ 160/4.0
(%] 70 — 160/3.0 |
-
60 /
s
50
0 100 200 300 400 500 600 700 Q [I/min]
Rotation speed: ~2900 min™'
Applicable standard of test: ISO 9906 - Annex A
210

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series - version

PERFORMANCE CURVE 50 Hz
Rev. E
40-200/5.5 (5.5 kW) — Impeller diameter = 183 mm
40-200/7.5 (7.5 kW) — Impeller diameter = 200 mm
40-200/11 (11 kW) — Impeller diameter = 224 mm
0 USgpm. 40 60 80 100 120 140 160 180 200
| | | | | | | | | | |
| | | | | | | T 1
% 0 Imp.g.p.m. 40 60 80 100 120 140 160
— 250
H H
[m] 70 — =200/11 230 [ft]
T—
] 210
60 ~—
i p 190
ls
~ 170
50 ~—
I i
i — = —150
~—200/5 5
~=5.
40 i NPSH 130
~ [m] [ft]
™~ 7
~_ o _
30 5 15
NPSH N | s L[ %
5
1 i
20 70
0 100 200 300 400 500 600 700 Q [I/min]
| | 1 T | | | | | | | | |
0 4 8 12 16 20 24 28 32 36 40 44 Q [m/n)]
12
1]
P, 10 ——=1200/117"
kw] 8 — [N .
(4] 6 — il 200/7.5—
—— 200/5.5—
4 = -
9 1]
0 100 200 300 400 500 600 700 Q [I/min]
80 ——
n 7 200/7.51 ]
% —
7 6o o ——
50 200/5.5 1= ]
40 200/11
30
0 100 200 300 400 500 600 700 Q [I/min]
Rotation speed: ~2900 min™'
Applicable standard of test: ISO 9906 - Annex A
211

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Series - version
PERFORMANCE CURVE 50 Hz
Rev. E
50-125/2.2 (2.2 kW) — Impeller diameter = 126 mm
50-125/3.0 (3.0 kW) — Impeller diameter = 131 mm
50-125/4.0 (4.0 kW) — Impeller diameter = 140 mm
0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
© cl) Imp.g.p.m. slo 1(IJO 15!0 2c|)0 2%0 3c|>0
H g g g S R O R | H
[m] 25 T 7 [ft]
2 — 80
o
20 T~ \\‘\
i e e 25 N _
S \‘\/@0 60
~ S~
15 725 NG
)/ N
22 N
\\‘ N L 40
N N
10 ™~
NPSH
[m] [#t]
— 6——20 20
° NPSH o o
— e 3410
2
il ok
0 0
0 200 400 600 800 1000 1200 Q [I/min]
(I) 1|o 2|0 3|0 4|0 slo 6|O 7|o Q [m3/n]
6
]
P2 T T
i 4 — 125/4.0
— 125/3.0
2 125/2.2
. ]
0 200 400 600 800 1000 1200 Q [I/min]
80
2 70 — T~
(%] = ~ T~ T 125/4.0
60 ™N \\ ‘ ‘
~N I I
125/2.2 ™ 125/3.0
50 | | L |
0 200 400 600 800 1000 1200 Q [I/min]
Rotation speed: ~2900 min™'
Applicable standard of test: ISO 9906 - Annex A
212

% E2ARA EBARA PUMPS EUROPE S.p.A.



3 series - version

CENTRIFUGAL PUMPS

PERFORMANCE CURVE 50 Hz
Rev. E
50-160/5.5 (5.5 kW) — Impeller diameter = 154 mm
50-160/7.5 (7.5 kW) — Impeller diameter = 166 mm
0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
| | 1 1 1 1 1
5 0 Imp.gpm. 50 100 150 200 250 300
—160
H H
[m] 4 [
40 ———
I~ 16 L
<075 120
— = _ N
30 B ~ —100
B /55
\\\
\\\ NPSH [~ 80
[m] [ft]
20 10
8_—30 60
6120
NPSH T .
__.—-—--"" —10
2 — — 40
10
0 200 400 600 800 1000 1200 Q [I/min]
| | | | | | | |
0 10 20 30 40 50 60 70 Q [m3/n]
8 T T
Py 160/7.5
e il | |
w6 T —
) —— — 160/5.5
”
2
0 200 400 600 800 1000 1200 Q [I/min]
80
: ]
—T——— 160/7.5
(%] 70 — —~
= 160/5.5
7,
60 =
50
0 200 400 600 800 1000 1200 Q [I/min]
Rotation speed: ~2900 min™'
Applicable standard of test: ISO 9906 - Annex A
213

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series - version

PERFORMANCE CURVE 50 Hz
Rev. E
50-200/9.2 (9.2 kW) — Impeller diameter = 191 mm
50-200/11 (11 kW) — Impeller diameter = 200 mm
50-200/15 (15 kW) — Impeller diameter = 224 mm
0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
| | 1 1 1 1 1
0 Imp.gpm. 50 100 150 200 250 300
80 - 260
H L] —240 H
(m] 70 T —— ] \200/75 [#]
—220
[~
~—
— 200
80— — 11— T \\'
] ~—200/1; 180
—— 1 \ j\
50 = ==200/9 , L 160
I
T~ N
NPSH 140
40 S [m] [ft]
] 8120
6——20
30 —— 15 —100
NPSH — 1o
—] 2+ 80
20
0 200 400 600 800 1000 1200 Q [I/min]
| | | | | | | |
0 10 20 30 40 50 60 70 Q [m3/n]
18 —
P, Ea— 200/15
(kW] T I
12 —— 200/117
L 200/9.2] |
0 200 400 600 800 1000 1200 Q [I/min]
80 |
11 % —
[%] 70 —— —
60 200/11F =
200/15
50 —
0 200 400 600 800 1000 1200 Q [I/min]
Rotation speed: ~2900 min™'
Applicable standard of test: ISO 9906 - Annex A
214

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series - version

PERFORMANCE CURVE 3(L)

50Hz
Rev. E
65-125/4.0 (4.0 kW) — Impeller diameter = 128 mm
65-125/5.5 (5.5 kW) — Impeller diameter = 138 mm
65-125/7.5 (7.5 kW) — Impeller diameter = 149 mm
0 USgp.m. 100 200 300 400 500 600 700
| | | | | | | |
[ I [ I I [ I
0 0 Imp.gp.m. 100 200 300 400 500 600
120
H H
[m] [ft]
30 ' TT— 100
™.
—— N
~ \\\/25/)\5 - 80
— T~ ~ N
20 ~ ~ /25‘ N
N /55 NS 60
\‘\ \ 7‘\
N2
~ 07, TN ™S NPSH
N [m] [ft] 40
10 =~ N 30
\\ 8
6— 20 20
NPSH |~ .
il 10
2
0 0
0 400 800 1200 1600 2000 2400 Q [I/min]
[ I I I I I I I I
0 20 40 60 80 100 120 140 Q [m¥/h]
8 [ —
Py L 125/7.5
[w] 6 — T
4 —  — 125/5.5
= I I
i 125 /4.0
2 i | |
0 400 800 1200 1600 2000 2400 Q [I/min]
80
1 — \\\ [~~~
[%] 70 ~
N
N, N N
) 125/40 NN 125/5.5
| |
0 400 800 1200 1600 2000 2400 Q [I/min]
Rotation speed: ~2900 min™
Test fluid: clean water at 20°C
Applicable standard of test: ISO 9906 - Annex A
215

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series - version

PERFORMANCE CURVE 3(L) 50Hz

Rev. E

65-160/7.5 (7.5 kW) — Impeller diameter = 153 mm
65-160/9.2 (9.2 kW) — Impeller diameter = 161 mm
65-160/11 (11 kW) — Impeller diameter = 168 mm
65-160/15 (15 kW) — Impeller diameter = 178 mm

0 U.S.g.p.m. 100 200 300 400 500 600 700
i L — : — — % =
0 Imp.gpm. 100 200 300 400 500 600
50
I 160
H H
[m] ~._ /6, 140 g
i e === 75
N
L [ ~ N 120
=~ T~ ]60 ~
T~ m\ I
- 6, N 100
\\ ]50/ - N
) N 80
20 AN
N \ 60
AL NPSH
[m] [ft]
620 |-40
10 //'/ S5
NPSH — 4
|
- — 310 20
2
s
0 0
0 400 800 1200 1600 2000 2400 Q [I/min]
{ x x x x x x x x
0 20 40 60 80 100 120 140 Q [m3/h]
16 I —
P, —— 160/15
[kw] 12 pE—— 160/11" ||
8 T — 160,/9.2
— 160/7.5
4 == 1
0 400 800 1200 1600 2000 2400 Q [I/min]
90
n
[%] 80 —
SN 60/15
70 — — {5
NS 160/
N 160/9.0—
160/7.5 177 |
60 :
0 400 800 1200 1600 2000 2400 Q [I/min]

Rotation speed: ~2900 min™
Test fluid: clean water at 20°C
Applicable standard of test: ISO 9906 - Annex A

216

5 E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series - version

PERFORMANCE CURVE 3(L) 50Hz
Rev. E
65-200/15 (15 kW) — Impeller diameter = 190 mm
65-200/18.5 (18.5 kW) — Impeller diameter = 201 mm
65-200/22 (22 kW) — Impeller diameter = 212 mm
0 U.S.g.p.m. 100 200 300 400 500 600 700
| | | | | | | |
[ [ [ [ [ [ [
0 Imp.g.p.m. 100 200 300 400 500 600
70
s s g s Y - 220
y ~ y
[m] ™~ | onn Lft]
60 T T \\200/22 20
‘\\ N
T~ - D 180
i R 00/7(9 IS
50 ~ NGO S N
\\‘ — 160
% ~
N5 N
\\ \\ — 140
40 N
\\\ —120
N NPSH
™N [m] [#]
30 " 100
8
NPSH 6——20
4// 4 — 80
, |10
20
0 400 800 1200 1600 2000 2400 Q [1/min]
[ I I I I [ [ I I
0 20 40 60 80 100 120 140 Q [m3/n]
24
o) — —— 200/22
(W) — —— 200/18.5
l/ |
— —— 200/15
0 400 800 1200 1600 2000 2400 Q [I/min]
90
n
[%] 80 — 200/22
TS 900/185
70 L 200/15
60
0 400 800 1200 1600 2000 2400 Q [I/min]

Rotation speed: ~2900 min™
Test fluid: clean water at 20°C
Applicable standard of test: ISO 9906 - Annex A

217

5 E2ARA EBARA PUMPS EUROPE S.p.A.



|
CENTRIFUGAL PUMPS 3 series - version

PERFORMANCE CURVE 3(B) 50 Hz
. Rev. E
65-125/4.0 (4.0 kW) — Impeller diameter = 128 mm
65-125/5.5 (5.5 kW) — Impeller diameter = 138 mm
65-125/7.5 (7.5 kW) — Impeller diameter = 149 mm
0 USgpm. 100 200 300 400 500 600
x x x x x x |
{ I I I I I
0 Imp.g.p.m. 100 200 300 400 500
40
120
H H
[m] [ft]
30 T~ 100
\\ )
T T T S~ o
\"\\\ . - 80
L . \\\ 75 |
20 i — L 5/5-5 S
I N | ™N 60
\\\ /25/4 ™SS \\\
\\ﬁ \\
NPSH
~~ [m] [11] [~40
10 SN
N . 30
- /| 620 20
NPSH e rd .
~ | 10
2
0 0
0 400 800 1200 1600 2000 Q [I/min]
{ x x x x x x x x x I x I I
0 10 20 30 40 5 60 70 8 90 100 110 120 130 Q [mh]
8 T T T
P, —— 125/7.5—
e B — 125/5.5
! — T — —
— 125/4.0
2 1 i 1
0 400 800 1200 1600 2000 Q [I/min]
80
L — §§§\
[%] 70 \\\\Q\\
SN 125/7.5—
60 AN 125/5.5
125/4.0
50 -
0 400 800 1200 1600 2000 Q [I/min]
Rotation speed: ~2900 min™
Test fluid: clean water at 20°C
Applicable standard of test: ISO 9906 - Annex A
218

5 E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series - version

PERFORMANCE CURVE 3( B)

50Hz
Rev. E
65-160/7.5 (7.5 kW) — Impeller diameter = 153 mm
65-160/9.2 (9.2 kW) — Impeller diameter = 161 mm
65-160/11 (11 kW) — Impeller diameter = 168 mm
65-160/15 (15 kW) — Impeller diameter = 178 mm
0 US.gpm. 100 200 300 400 500 600 700
| | | | | | | |
{ I x I I x I
0 Imp.gpm. 100 200 300 400 500 600
_ - 160
H H
[m] 76, O[]
40— - 0//5
™~
R \\\ 120
T — / \\
L T~ } 60/]/\
30 C T S 6 N — 100
N~ SN /9.2\\ N
\\\\ ‘ZG\N D N
\\0/75\\\ \\ — 80
N N N
20 \\
~ 60
N N NPSH
/ [m] [ft]
620 40
10 54 15
NPSH = 4
— — 310 20
2
|5
0 0
0 400 800 1200 1600 2000 2400 Q [1/min]
{ x x x x x I x
0 20 40 60 80 100 120 140 Q [m3/h]
16 T 1
Py — 160/15
p—
[kw] 12 PEm— 160,/11
; | _— 160/9.2
//__— | |
= 160/7.5
4 ! ! !
0 400 800 1200 1600 2000 2400 Q [1/min]
90
n
%) 80
g e~
NGO \\ 160 /11
“ WB‘O/T'S Y 160/9.2] |
[
0 400 800 1200 1600 2000 2400 Q [1/min]
Rotation speed: ~2900 min”
Test fluid: clean water at 20°C
Applicable standard of test: ISO 9906 - Annex A
219

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series - version

PERFORMANCE CURVE 3 ( B)

50Hz
Rev. E
65-200/15 (15 kW) — Impeller diameter = 190 mm
65-200/18.5 (18.5 kW) — Impeller diameter = 201 mm
65-200/22 (22 kW) — Impeller diameter = 212 mm
0 US.g.pm. 100 200 300 400 500 600 700
| | | | | | | |
{ I x x x x x
0 Imp.gpm. 100 200 300 400 500 600
70
S S 220
H H
[m] ~ [ft]
I N N 20 - 200
60 —r ™S 0/22
‘\\ N
L \\\ 2 N 180
= 0,
50 \' ~0s ~
NG ~N 160
N 2 NG \\
00// N
\\5 N 140
40 \\ \\
NG N
A 120
NPSH
[m] [#]
30 o [10
8
NPSH 7 6120
—— 44,80
] 2
20
0 400 800 1200 1600 2000 2400 Q [I/min]
[ I I I I I [ I I
0 20 40 60 80 100 120 140 Q [m3/h]
24
o) e 200,/22
LU e 200/18.5
"] — — |
— T 200/15
0 400 800 1200 1600 2000 2400 Q [I/min]
90
n
(%] 80 —] —
—
~ < 200/22
70 > ~~ 200/18.5
200/15
60 S
0 400 800 1200 1600 2000 2400 Q [I/min]
Rotation speed: ~2900 min™
Test fluid: clean water at 20°C
Applicable standard of test: ISO 9906 - Annex A
220

5 E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series - version

CONSTRUCTIONS 3BM'3M'3LM 50 Hz

Rev. E

SECTIONAL VIEW

1 4 26 72 56 6 17 58 6 12 21

30 25 200 11 3 18 92 19 22 42 20 13
UP TO 11 kW

15 kW AND ABOVE

300

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series - version

CONSTRUCTIONS

3M-3LM (NO 65 VERSION)

50 Hz

Rev. E
MATERIAL DIMENSIONS STANDARD N. FOR
N° PART NAME
3M 3LM 3M 3LM 3M 3LM 1UNIT
001 |Casing EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
006 |Shaft with rotor-Part in contact with liquid EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
007 |Impeller EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
011 |Mechanical seal Carbon / Ceramic / NBR SiC/SiC/FPM See p 311-312-314 1
012 |Motor frame with stator - 1
013 |Motor cover Aluminium 1
014 |Fan Poliammide 1
015 |Fan cover Galvanized Fe P04 1
016 |Terminal - 1
017 |Terminal box cover Aluminium (three phase version) 1
018 |Splash ring }—Up to 11 kW NBR - 40x21.5x3 - EBARA DRAWING 1
15 kW and above 50x29.5x3
019 |Bearing - See table p.310 1
020 |Bearing - See table p.310 1
021 |Adjusting ring Steel C70 1
Up to 3 kW M5
022 Tie rod For4-5.5-7.5kW Galvanized Fe 42 M6 EBARA DRAWING 4
9.2 e 11kW M8
Screw 15 kW and above Zn. Steel 8.8 strenght class ISO 898-1 M10x40 UNI 5739
25 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
026 |"0"ring 22’;33 :g’;sg’:ﬁ 6205 NBR / FPM (version H and HS) 189.86x5.34 OR 6745 1
50-200 227.96x5.34 OR 6895
030 Spager (not for HS Up to 15 Kw (50-200/15) EN 1.4301 (AIS] 304) R 22.5x26.9x2.5 ‘ - EBARA DRAWING - 1
version) 15 kW and above 30.5x40x2.5 ‘ -
Up to 11 kW A 6x6x25
032 |Key 15 KW and above EN 1.4401 (AISI 316) A Bx7x30 UNI 6604 1
Up to 11kW M16x1.5
034 |Impeller nut 50-200/15 EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) M18x1.5 UNI 7474 1
15 kW and above M20x1.5
042 |Foot Aluminium / Zinc-coated steel EBARA DRAWING [1]
056 |Box gasket NBR 1
058 |Fasting nut - [2]
072 |Casing ring [3] EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
073 |Casing ring EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
Flange Ezh'l”ﬁggzez’/jge;g;) EN 1.4404 (AISI 316L) See table p.319 EBARA DRAWING 2
Zn. Steel 8.8 strenght
085 5"“”‘6”'3”96 Screw for flange classseIeSCB) ggsj 3r A2-70 class SO 3506-1 M16x55 UNI 5737 84
it (on request)
A2-70 class ISO 3506-1
Gasket EPDM (FPM for H-HS FPM See table p 319 - 2
version)
Up to 3kW 25x40x7
092 |Lip seal From 4 to 7.5 kW : R 30x47X7 .DIN 3769 ]
From 9.2 kW to 11 kW 40x55x7 without spring
From 15 kW to 22 kW 45x60x7
Up to 4 kW 25x40x7
. From 5.5 kW to 7.5 kW 30x47X7 DIN 3760
093 |Lip seal - - ) - 1
From 9.2 kW to 11 kW 40x55x7 without spring
From 15 kW to 22 kW 45x60x7
101 |Snap ring (only 9.2 and 11kW) Carbon tool steels TC 80 40 UNI 7435 1
200 |Screw Stainless steel A2-70 class ISO 3506-1 M 10x35 UNI 5739 [4]
206 |Screw for bracket Zn. Steel 8.8 strenght class ISO 898-1 M 10x40 UNI 5739 4

[1] N° for 1 unit= 1 for 3M 32 — 3M 40 — 3M 50

[2] N° for 1 unit=1 up to 11 kW
N° for 1 unit=2 from 15kW to 22kW

[3] For version 32-200/3.0 — 32-200/4.0 — 32-200/5.5 — 40-200/5.5 — 40-200/7.5 — 40-200/11 — 50-160/5.5 —
50-160/7.5 -50-200/9.2 — 50-200/11 — 50-200/15

[4] N° for 1 unit= 10 for 32-125, 32-160, 40-125
N° for 1 unit= 12 for 32-200, 40-160, 40-200, 50-125, 50-160

301

E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series - version

consTrucTions IBM=-3M-3LM (5 version)

50 Hz

Rev. E
. N. FOR
N PART NAME MATERIAL DIMENSIONS STANDARD 1 UNIT
3BM | 3M | 3LM
001 |Casing EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
EN 1.4301(AISI 304) EN 1.4404(AISI 316L)
006 | Shaft with rotor -Part in contact with liquid -Part in contact with liquid 1
007 |Impeller Bronze ‘ EN 1.4401 (AISI 316) 1
011 [Mechanical seal Carbon / Ceramic / NBR | SiC/SiC/FPM See table p.311-312-313-314-315 1
012 |Motor frame with stator - 1
013 [Motor cover Aluminium 1
014 |Fan Poliammide 1
015 |Fan cover Fe P04 Zinc-coated 1
016 |Terminal - 1
017 |Terminal box cover Aluminium 1
018 |Splash ring }M NBR / 40x21.5x3 EPE DRAWING ]
15 kW and above 50x29.5x3
019 |[Bearing - See table p.310 1
020 (Bearing - See table p.310
021 |Adjusting ring Steel C70
022 Tie rod Up to 11 kW Fe 42 Zinc-coated EPE DRAWING 4
Screw 15 kW and above Zn. Steel 8.8 strenght class 1ISO 898/1 UNI 5739
025 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1
3(..)M 65-125 NBR (FPM for 189.86x5.34 OR 6745
026 |"O"ring 3(..)M 65-160 and NBR H-HS version) FPM 1
3()M 65-200 227.96x5.34 OR 6895
. 22.5x26.9x2.5 (up to 11kW)
030 |[Spacer (Not for HS version) EN 1.4301 (AISI 304) / 30.5x40x2.5 (15 kW and above) EPE DRAWING 1
032 |Key EN 1.4401 (AISI 316) 6x6x25 (up {0 11kW) UNI 6604 1
8x7x30 (15 kW and above)
034 |Impeller nut EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M16x1.5 (Up to 11kW) UNI 7474 1
M20x1.5 (15 kW and above)
042 |Foot Aluminium / Zinc-coated steel EPE DRAWING [1]
056 |Box gasket NBR 1
058 |Fasting nut [ - 2]
Flange Zinc-coated steel EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) See table p.319 EPE DRAWING 2
Zn.Steel 8.8 strenght Stainless steel A2-70
ogge |Counter- | Serewforflange classs Tgosszgme ’ class ISO 3506/1 M16x55 UNI 5737 8-4
flange kit
Gasket EPDM EPDM (FPM for FPM See table p.319 2
H-HS version)
Up to 7.5 kW 30x47X7
092 |Lipseal  [From 9.2 kKW to 11 kW - 0x55¢7 DIN 3760 1
without spring
From 15 kW to 22 kW 45x60x7
For 4 kW 25x40x7
. From 5.5 kW to 7.5 kW 30x47X7 DIN 3760
093 |Lip seal - . X 1
From 9.2 kW to 11 kW 40x55x7 without spring
From 15 kW to 22 kW 45x60x7
101 |Snap ring (only 9.2 and 11kW) Carbon tool steels TC 80 40 UNI 7435 1
200 |Screw Stainless steel A2-70 class 1ISO 3506/1 M 10x35 UNI 5739 [3]
206 |Screw for bracket Zincked steel 8.8 strenght class 1ISO 898/1 M 10x40 UNI 5739 4

*On request

[1] N° for 1 unit =0 for version 3(..)M 65-160/15
N° for 1 unit =1 for version 3(..)M 65-125/4.0, 3(..)M 65-125/5.5, 3M 65-125/7.5, 3M 65-160/7.5,
3(..)M 65-160/9.2, 3(..)M 65-160/11
N° for 1 unit =2 for version 3(..)M 65-200/15, 3(..)M 65-200/18.5, 3(..)M 65-200/22
[2] N° for 1 unit =1 Up to 11 kW
N° for 1 unit =2 from 15 kW to 22 kW
[3] N° for 1 unit =10 for 3(..)M 65-125
N° for 1 unit =12 for 3(..)M 65-160 and 3(..)M 65-200
[4] Not for 3LM version

302

E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series - version

CONSTRUCTIONS 3BS'3S'3 LS 50 Hz

SECTIONAL VIEW Rev. E
7 4 12611 3 44 206
- [ N
|
/ i Q:/ —
! %ﬂﬂﬂﬂﬂﬂ; -
‘ vluuyuuuuu
| N:j / F}
/ / /1/ ~ C ‘\/ 77777777777777
34 32 25 30 200 6 4 19

303

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series - version

CONSTRUCTIONS 3 BS '3S '3 LS

50 Hz
Rev. E
A o B
=i} —
0N
1 ST ‘ { 1
I g I ——oncx I
L || ! UuuuuLY : }
| S i
‘ e = ,\_j F
: ~74,L fffffffff Mkjgifififif”
] [ ]
206-2

. —
00000000000
nnanananannant I

. - -<'_- ( =

N
yuuuuyyuuUUUY T
1000000000000
T —

—
—
1
-
|
|
|
I
|
|
_H
M
|
|
|
I
|
[
|
|
I

304

% ESARA EBARA rpuMPS EUROPE

S.p.A.



CENTRIFUGAL PUMPS

3 series - version

SPECIFICATIONS 39=3LS (NO 65 VERSION)

50

Hz

Rev. E
MATERIAL DIMENSIONS STANDARD N. FOR
N° PART NAME
3s 3LS 3s 3LS 3s 3Ls | TUNIT

001 |Casing EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
006 |Coupling - Part in contact with liquid EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) See table p. 317 1
007 |Impeller EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
011 |Mechanical seal Carbon / Ceramic / NBR SiC/SiC/FPM See p. 311-312-314 1
012 |Motor - \ 1
025 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1

32-125, 40-125 158.11x5.34 OR 6625
026 |"0" ring 32-160, 40-160, 50-125 NBR / FPM (version H and HS) 189.86x5.34 OR 6745 1

:gzggg’ 40-200,50-160, 227.96x5.34 OR 6895
030 |Spacer (notfor HS Up t0 15 kW EN 1.4301 (AISI 304) 22.5x26.9x2.5 EBARA DRAWING 1

version) 15 kW and above 30.5x40x2.5

032 |Key Upto 11 kW EN 1.4301 (AISI 304) | EN 1.4401 (AISI 316) 6x6x25 UNI 6604 1

15 kW and above 8x7x30

Up to 11kW M16x1.5
034 |Impeller nut 50-200/15 EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) M18x1.5 UNI 7474 1

15 kW and above M20x1.5

Aluminium
042 |Foot [1] Aluminium / Zinc-coated Aluminium EBARA DRAWING [2]
steel

044 |Protection EN 1.4301 (AISI 304) EBARA DRAWING 1
072 |Casing ring [3] EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
073 |Casing ring (not for 65 version) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1

Flange Ezrl‘"f?:gg;exge;g;) EN 1.4404 (AISI 316L) See table p.319 EBARA DRAWING 2

Counterflange Zn. Steel 8.8 strenght
085 Kit (on request) Screw for flange class ISO 898-1 or | A2-70 class ISO 3506-1 M16x55 UNI 5737 8-4
A2-70 class ISO 3506-1

Gasket E:_ '2"\3" \(/':s'\g:)’r FPM See table p.319 2
200 |Screw Stainless steel A2-70 class ISO 3506/1 M 10x35 UNI 5739 [4]
201 |Screw Zn. Steel 8.8 strenght class ISO 898/1 M 10x16 UNI 5739 [5]
206 |Screw for bracket Zn. Steel 8.8 strenght class 1ISO 898/1 M 10x40 UNI 5739 4

[1] For version 32-125/1.1 - 32-160/1.5 - 32-160/2.2 - 40-125/1.5 - 40-125/2.2 bend plane as support
[2] N° for 1 unit=1 for version 3S and 3LS
[3] For version 3S 32-200/3.0, 3S 32-200/4.0, 3S 32-200/5.5, 3S 40-200/5.5, 3S 40-200/7.5, 3S 40-200/11,

3S 50-160/5.5, 3S 50-160/7.5, 3S 50-200/9.2, 3S 50-200/11, 3S 50-200/15
[4] N° for 1 unit= 10 for 32-125, 32-160, 40-125

N° for 1 unit= 12 for 32-200, 40-160, 40-200, 50-125, 50-160
[5] N° for 1 unit= 1 for 32-125/1.1, 32-160/1.5, 32-160/2.2, 40-125/1.5, 40-125/2.2, 50-125/2.2

305

=TV T

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3 series - version

construcTions IBS=3S=-3LS (65 version)

50 Hz

Rev. E
R N. FOR
N PART NAME MATERIAL DIMENSIONS STANDARD
1 UNIT
3BS 38 3LS
001 |Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
003A |Adapter ring [1] Cast iron EN-GJL-250-EN 1561
004 |Casing cover EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
006 |Coupling EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) See table p.317 1
007 |Impeller Bronze EN 1.4401 (AISI 316) 1
011 |Mechanical seal Carbon / Ceramic / NBR | SiC/SiC/ FPM See p. 311-312-313-314-315 1
012 |Motor - 1
025 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1
3(..)S 65-125 NBR 189.86x5.34 OR 6745
026 |"O"ring 3(..)S 65-160 and NBR (FPM for H-HS FPM 1
3(.)S 65-200 version) 227.96x5.34 OR 6895
22.5x26.9x2.5 (up to 11kW)
030 |Spacer (Not for HS version) EN 1.4301 (AISI 304) / 30.5x40x2.5 EPE DRAWING 1
(15 kW and above)
6x6x25 (up to 11kW)
032 |Key EN 1.4401 (AISI 316) 8x7x30 (15 KW and above) UNI 6604 1
M16x1.5 (Up to 11kW)
034 |Impeller nut EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M20x1.5 (15 kW and above) UNI 7474 1
042 |Foot Aluminium / Zinc-coated steel EPE DRAWING [2]
044 |Protection EN 1.4301 (AISI 304) EPE DRAWING 2
Flange Zinc-coated steel EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) See table p.319 EPE DRAWING 2
Screw for flange | Zn. Steel 8.8 strenght Stainless steel A2-70
085* z:’“”ter“ange class ISO 898/1 class ISO 3506/1 M16x55 UNI 5737 8-4
Gasket EPDM EPDM (FPM for FPM See table p.319 2
H-HS version)
200 |Screw Stainless steel A2-70 class ISO 3506/1 M 10x35 UNI 5739 [3]
206 |Screw for bracket Zn. Steel 8.8 strenght class 1ISO 898/1 M 10x40 UNI 5739 4
206-2 |Screw adapter ring [1] Zn. Steel 8.8 strenght class 1ISO 898/1 M 12x20 UNI 5931 4

* On request

[1] Only for version 3(..)S 65-125/5.5 and 3(..)S 65-125/7.5

[2] N° for 1 unit=0 for version
N° for 1 unit=1 for version

3(..)S 65-200/22
3(..)S 65-125/5.5, 3(..)S 65-125/7.5, 3(..)S 65-160/11, 3(..)S 65-160/15,

3(..)S 65-200/15, 3S 65- 200/18.5

N° for 1 unit =2 for version

[3] N° for 1 unit =10 for version 3(..)S 65-125
N° for 1 unit =12 for version 3(..)S 65-160 and 3(..)S 65-200

3(..)S 65-125/4.0, 3(..)S 65-160/7.5, 3(..)S 65-160/9.2

306

=TV T

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3 series - version

CONSTRUCTIONS 3 B P'3 P '3 L P

N

58

66 19 6

30 92

26

Rev. E

SECTIONAL VIEW

—L

142

y

50

67 93 33

42

1

200 72

3

25

307

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series - version

CONSTRUCTIONS 3P'3LP (NO 65 VERSION)

50 Hz

Rev. E
. MATERIAL DIMENSIONS STANDARD | N.FOR
N PART NAME
3P 3LP 3P 3LP 3P 3Lp | TUNIT
001 |Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
003 |Support Cast iron EN-GJL-200-EN 1561 [1] 1
004 |Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
006 |Shaft - Part in contact with liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
007 |Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
011 |Mechanical seal Carbon / Ceramic / NBR SiC/SiC/FPM See p. 311-312-314 1
012 |Motor - 1
019 |Bearing - See table p. 310 1
020 |Bearing - See table p. 310 1
025 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
- - - 189.86x5.34 OR 6745
026 |"O"ring 32-160, 40-160, 50-125 NBR / FPM (version H and HS) x 1
32-200, 40-200,50-160, 207.96x5.34 OR 6895
50-200
030 Spa(l:er (not present HS | Up to 15 kW (50-200/15) EN 1.4301 (AISI 304) ; 22.5x26.9x2.5 - EBARA DRAWING 1
version) 15 kW and above 30.5x40x2.5 -
6x6x25
032 |Key Up to 11 kW EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) UNI 6604 1
15 kW and above 8x7x30
033 |Key EN 1'43001‘1(:5' 304) EN 1.4301 (AISI 304) 8x7x40 UNI 6604 L
Up to 11kW M16x1.5
034 |Impeller nut 50-200/15 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M18x1.5 UNI 7474 1
15 kW and above M20x1.5
042 |Pump support Fe 37 Zinc-coated EBARA DRAWING 1
044 |Protection Fe 37 Zinc-coated 1
050 |Foot Fe 37 Zinc-coated Fe 37 1
058 |Fasting nut - 1
opg | mPeller side bearing Cast iron EN-GJL-200-EN 1561 1
cover
067 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
072 |Casing ring [1] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
073 |Casing ring (not for 65 version) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
Zinc-coated steel or
See table p. 319 EBARA DRAWING
Flange EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) ee table p. 2
Counterfl Zn. Steel 8.8 strenght
085 k_f“” © anget Screw for flange class IS0 898-10r | A2-70 class ISO 3506-1 M16x55 UNI 5737 84
it (on requesf) A2-70 class ISO 3506-1
Gasket EPDM (FPM for H-HS FPM See table p.319 2
version)
092 |"V"ring - VS - 0030 1
093 |"V"ring - VS - 0030 1
130 |Flexible coupling Cast iron EN-GJL-250-EN 1561 See table pag. 318 1
142 |Base Fe 37 Zinc-coated ‘ 1
200 |Screw Stainless steel A2 70 class 1ISO 3506/1 M 10x35 UNI 5739 [2]

[1] For version 3P 32-200/3.0, 3P 32-200/4.0, 3P 32-200/5.5, 3P 40-200/5.5, 3P 40-200/7.5, 3P 40-200/11, 3P
50-160/5.5, 3P 50-160/7.5, 3P 50-200/9.2, 3P 50-200/11, 3P 50-200/15
[2] N° for 1 unit=8-12 for version 3P and 3LP

308

E2ARA

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

3 series - version

construcTions 3BP=-3P-3LP (65 version)

50 Hz

Rev. E
N° PART NAME MATERIAL DIMENSIONS STANDARD| N. FOR
1UNIT
3BP | 3P | 3LP
001 |Casing EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
003 |Support Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
006 |Shaft 1
EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
-Part in contact with liquid -Part in contact with liquid

007 {Impeller Bronze ‘ EN 1.4401 (AISI 316) 1
011 [Mechanical seal Carbon / Ceramic / NBR | SiC/ SiC/ FPM See p 311-312-314 1
012 [Motor - 1
019 |[Bearing - See table p. 310 1
020 |[Bearing - See table p. 310 1
025 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1

3(..)P 65-125 NBR 189.86x5.34 OR 6745
026 |"O"ring 3(..)P 65-160 and NBR (FPM for H-HS FPM 227.96x5.34 1

3(..)P 65-200 version) OR 6895
030 |Spacer (Not HS version) EN 1.4301 (AISI 304) / 22.5x26.9x2.5 (up 10 11KW) | e ppavying 1

30.5x40x2.5 (15 kW and above)
6x6x25 (up to 11kW)
032 [Key EN 1.4401 (AISI 316) 8x7x30 (15 KW and above) UNI 6604 1
033 |Key C 40 8x7x40 UNI 6604 1
M16x1.5 (Up to 11kW)

034 |Impeller nut EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M20x1.5 (15 KW and above) UIN 7474 1
042 (Pump support Fe 37 Zinc-coated EPE DRAWING 1
044 |Protection Fe 37 Zinc-coated 1
050 |[Foot Aluminium / Zinc-coated steel [11
066 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
067 [Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1

Flange Zinc-coated steel EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) See table p. 319 EPE DRAWING 2

UNI 5737 8-4
oas- |Counter- | Serew for flange Z"'C zt::'l SBS ;;:’/:9’“ Stainless steel A2-70 calss ISO 3506/1 M16x55
flange kit
Gasket EPDM EPDM (FPM for FPM See table p. 319 2
H-HS version)

3(..)P 65-125 14x20x5.5
092 |["V"ring 3(..)P 65-160 and - 1

3(..)P 65-200 18x26x7.5

3(..)P 65-125 14x20x5.5
093 |"V"ring 3(..)P 65-160 and - 1

3()P 65-200 18x26x7.5
130 |Flexible coupling Cast iron EN-GJL-250-EN 1561 See table p. 318 1
142 |Base Fe 37 Zinc-coated 1
200 |Screw Stainless steel A2 70 class ISO 3506/1 M 10x35 UNI 5739 [2]

*On request

[1] N° for 1 unit=0 for version 3(..)P 65-160/11, 3(..)P 65-160/15, 3(..)P 65-200/18.5, 3(..)P 65-200/22
N° for 1 unit =1 for version 3(..)P 65-125/4
N° for 1 unit =2 for version 3(..)P 65-125/5.5, 3(..)P 65-125/7.5, 3(..)P 65-160/7.5, 3(..)P 65-160/9.2,

3(..)P 65-200/15

[2] N° for 1 unit=10 for version 3(..)P 65-125
N° for 1 unit =12 for version 3(..)P 65-160 and 3(..)P 65-200

309

=TV T

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series - version

CONSTRUCTIONS o0 Hz

Rev. E
Type pumps Type pumps
Single Phase Three Phase Pump side Fan side Three Phase Motor size Pump side Fan side
50 Hz 50 Hz 50 Hz
3(.)M 32-125/1.1 M |3(..)M 32-125/1.1 3(..)S 32-125/1.1 80 6204 ZZ 6204 ZZ
3(..)M 32-160/1.5 M |3(..)M 32-160/1.5 3(..)S 32-160/1.5
6205 Z2Z 90 6205 Z2Z 6205 27
3(.)M 32-160/2.2 M |3(..)M 32-160/2.2 6205 2Z 3(..)S 32-160/2.2
3(..)M 32-200/3.0 3(..)S 32-200/3.0 100 6206 ZZ 6206 ZZ
. 3(..)M 32-200/4.0 6206 ZZ 3(..)S 32-200/4.0 112 6306 ZZ 6306 ZZ
3(..)M 32-200/5.5 3(..)S 32-200/5.5
6306 ZZ 6206 ZZ 132 6208 ZZ 6208 Z2Z
3(..)M 32-200/7.5 3(..)S 32-200/7.5
3(..)M 40-125/1,5M |3(..)M 40-125/1.5 3(..)S 40-125/1.5
90 6205 Z2Z 6205 Z2Z
3(..)M 40-125/2.2 M |3(..)M 40-125/2.2 6205 ZZ 6205 77 3(..)S 40-125/2.2
3(..)M 40-160/3.0 3(..)S 40-160/3.0 100 6206 ZZ 6206 ZZ
3(..)M 40-160/4.0 6206 ZZ 3(..)S 40-160/4.0 112 6306 ZZ 6306 ZZ
- 3(..)M 40-200/5.5 3(..)S 40-200/5.5
6306 ZZ 6206 ZZ 132 6208 ZZ 6208 Z2Z
3(..)M 40-200/7.5 3(..)S 40-200/7.5
3(..)M 40-200/11 6308 ZZ 6208 ZZ 3(..)S 40-200/11 160 6209 ZZ 6209 ZZ
3(.)M 50-125/2.2 M |3(..)M 50-125/2.2 3(..)S 50-125/2.2 90 6205 ZZ 6205 ZZ
3(..)M 50-125/3.0 6205 Z2Z 6205 Z2Z 3(..)S 50-125/3.0 100 6206 ZZ 6206 ZZ
3(..)M 50-125/4.0 3(..)S 50-125/4.0 112 6306 ZZ 6306 ZZ
3(..)M 50-160/5.5 6306 2Z 6206 22 3(..)S 50-160/5.5
3(..)M 50-160/7.5 3(..)S 50-160/7.5 132 6208 2Z 6208 ZZ
3(..)M 50-200/9.2 6308 77 6208 27 3(..)S 50-200/9.2
3(..)M 50-200/11 3(..)S 50-200/11
160 6209 Z2Z 6209 Z2Z
3(..)M 50-200/15 6309 Z2Z 6209 727 3(..)S 50-200/15
3(..)M 65-125/4.0 6206 ZZ 6205 Z2Z 3(..)S 65-125/4.0 112 6306 ZZ 6306 ZZ
- 3(..)M 65-125/5.5 3(..)S 65-125/5.5
. - . 6306 2Z 6206 ZZ . - .
3(..)M 65-125/7.5 3(..)S 65-125/7.5 132 6208 22 6208 72
3(..)M 65-160/7.5 3(..)S 65-160/7.5
..)M 65-1 .2 . -1 .2
3(..)M 65-160/9 6308 22 6208 27 3(..)S 65-160/9
3(..)M 65-160/11 3(..)S 65-160/11
e | | emz | s
()M 65- 6309 22 6309 22 ()8 85
3(..)M 65-200/18.5 3(..)S 65-200/18.5
3(..)M 65-200/22 3(..)S 65-200/22 180 6210 ZZ 6210 2Z
Type pumps Pump Motor
Three Phase | Motor size
50 Hz Pump side Motor side Pump side Fan side
3(..)P 32-125/1.1 80 6204 727 6204 27
3(..)P 32-160/1.5 2 6306 Z2Z 6206 ZZ 6205 77 6205 77
3(..)P 32-160/2.2
3(..)P 32-200/3.0 100 6206 ZZ 6206 2Z
gz;g gg:zgggg 112 6308 22 6306 22 6306 Z2Z 6306 ZZ
3(.)P 32-200/7.5 132 6208 ZZ 6208 2Z
3(.)P 40-125/1.5 90 6205 Z2Z 6205 2Z
3(..)P 40-125/2.2 6306 22 6206 ZZ
3(..)P 40-160/3.0 100 6206 27 6206 ZZ
3(..)P 40-160/4.0 112 6306 ZZ 6306 ZZ
3(..)P 40-200/5.5
3(..)P 40-200/7.5 132 6308 ZZ 6306 ZZ 620822 6208 22
3(..)P 40-200/11 160 6309 Z2Z 6309 Z2Z
3(..)P 50-125/2.2 90 6306 ZZ 6206 ZZ 6205 Z2Z 6205 Z2Z
3(..)P 50-125/3.0 100 6206 ZZ 6206 ZZ
3(..)P 50-125/4.0 112 6306 2z 6206 2z 6306 Z2Z 6306 ZZ
3(..)P 50-160/5.5
3(..)P 50-160/7.5 132 6208 ZZ 6208 ZZ
3(..)P 50-200/9.2 6308 ZZ 6306 ZZ
3(..)P 50-200/11
160 6209 2Z 6209 ZZ
3(..)P 50-200/15
3(..)P 65-125/4.0 112 6306 ZZ 6306 ZZ
3(..)P 65-125/5.5 6306 ZZ 6206272
3(.)P 65-125/7.5 132 6208 2Z 6208 2Z
3(..)P 65-160/7.5
3(..)P 65-160/9.2
3(..)P 65-160/11
3(..)P 65-160/15 160 6308 ZZ 6306Z2Z 6200 22 6200 22
3(..)P 65-200/15
3(..)P 65-200/18.5
3(..)P 65-200/22 180 6210 2Z 6210 2Z

310

E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series - version

CONSTRUCTIONS 50 Hz
MECHANICAL SEAL Rev.- &
1 2 4 3 5 6 7
\M
L
Pump type Dimensions mm Pump type Dimensions mm
@d1@d2| L @d1 1 @d2| L
3(..) 32-125/1.1 3(..) 50-125/4.0
3(..) 32-160/1.5 3(..) 50-160/5.5
3(..) 32-160/2.2 3(..) 50-160/7.5
3(..) 32-200/3.0 3(..) 50-200/9.2
3(..) 32-200/4.0 3(..) 50-200/11
3(..) 32-200/5.5 3(..) 50-200/15
3(..) 32-200/7.5 3(..) 65-125/4.0 22 37 |37:5
3(..) 40-125/1.5 3(..) 65-125/5.5
3(..) 40-125/2.2 22 37 |37.5 3(..) 65-125/7.5
3(..) 40-160/3.0 3(..) 65-160/7.5
3(..) 40-160/4.0 3(..) 65-160/9.2
3(..) 40-200/5.5 3(..) 65-160/11
3(..) 40-200/7.5 3(..) 65-160/15
3(..) 40-200/11 3(..) 65-200/15
3(..) 50-125/2.2 3(..) 65-200/18.5 30 45 1425
3(..) 50-125/3.0 3(..) 65-200/22
MANUFACTURER ROTEN
MANUFACTURER DESCRIPTION UNITEN 3 X6H62V6 | UNITEN 3 XYHY2VY |[UNITEN 5 XYXYKKY
REFERANCE PUMP VERSION STANDARD H VERSION HS VERSION
DIMENSIONS @ 22-30 3 22-30 230
1|Self driving spring EN 1.4401(AISI 316) | EN 1.4401(AISI 316) | EN 1.4401(AISI 316)
2|0 Ring NBR FPM FPM
EN 1.4301(AISI 304) /

MATERIAL 3|Frame EN 1.4301(AISI 304) EN 1.4401(AISI 316)" EN 1.4401(AISI 316)
4|0 Ring NBR FPM FPM
5|Rotary seal ring ceramic ceramic SiC
6| Stationary seal ring carbon graphite carbon graphite SiC
7|0 Ring NBR FPM FPM

*Only for @ 30

311

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series - version

CONSTRUCTIONS 50 Hz

Rev. E

MECHANICAL SEAL (HS version)
@22 SiC/SiC/FPM

T2 35 4 5 6

e [
1 }
N ™~
(@] N
= S8
Y Q g
ie FJ ‘
3/.5
MANUFACTURER BURGMANN
MANUFACTURER DESCRIPTION MG1S6/22-G3
REFERANCE PUMP VERSION HS VERSION
DIMENSIONS g 22
1 Self driving spring EN 1.4571(AISI 316Ti)
2 Bellows FPM
3 Frame EN 1.4571(AISI 316Ti)
MATERIAL 4 Rotary seal ring SiC
5 Stationary seal ring SiC
6 O Ring FPM

312

g E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series - version
CONSTRUCTIONS 50 Hz
Rev. E
Mechanical seal for HS version
@30 SiC/SiC/IFPM
42.5
31 1.5
-

oll¢)

830
T"_"_T_"_"T
I
|
|
|
|
|
B I
945

1 23 4 5
MANUFACTURER BURGMANN
MANUFACTURER DESCRIPTION M377GNX/30-00-R
REFERANCE PUMP VERSION HS VERSION
DIMENSIONS @ 30
1 Self driving spring EN 1.4571(AISI 316Ti)
2 O Ring FPM
MATERIAL 3 |Rotary part SiC
4 Stationary seal ring SiC
5 O Ring FPM

Only for models 65-160/15, 65-200/15, 65-200/18.5, 65-200/22

313
% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 series - version

CONSTRUCTIONS 50 Hz

Rev. E

MECHANICAL SEAL ( L version)
@22 SiC/SiC/FPM

A
I
™~ ™~
[@N o N
ASS =
|
_PPoe | p
!
375
MANUFACTURER BURGMANN
MANUFACTURER DESCRIPTION M377GN85/22-00-R
REFERANCE PUMP VERSION 3L VERSION
DIMENSIONS g 22
1 Self driving spring EN 1.4571(AISI 316Ti)
2 Thrust ring EN 1.4571(AISI 316Ti)
3 O Ring FPM
MATERIAL 4 Rotary seal ring SiC
5 Stationary seal ring SiC
6 O Ring FPM

314

g E2ARA EBARA PUMPS EUROPE S.p.A.




3 series - version

CENTRIFUGAL PUMPS

CONSTRUCTIONS 50 Hz
Mechanical seal for L version
@30 SiC/SiC/FPM
42.5
31 L 11.5
m u
| o M A |
- |
: |
{p)
T I E— -t g
og
MANUFACTURER BURGMANN
MANUFACTURER DESCRIPTION M377GNX/30-00-R
REFERANCE PUMP VERSION HS VERSION
DIMENSIONS @ 30
1 Self driving spring EN 1.4571(AISI 316Ti)
2 O Ring FPM
MATERIAL 3 |Rotary part SiC
4 Stationary seal ring SiC
5 O Ring FPM

315

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series - version

CONSTRUCTIONS 50 Hz

Rev. E

DIAGRAM AND ELECTRIC CONNECTIONS

THREE PHASE MOTOR

STAR CONNECTION DELTA CONNECTION

/: (]l {C)m:f)m:()w /: u {Ez Ez V2
w2 1 ({U‘I C{n 4 w2 W Ul Vi W1
MOTOR 3n~ Mol ) MOTOR 3n~ Mol e |k

FOR MOTOR 4 kW

DELTA CONNECTION 230 V STAR CONNECTION 400 V
Ut v Wi qUi ql1 W1
\ \ N
L1 L2 L3 L1 L2 L3

FOR MOTOR 5.5 kW AND ABOVE

DELTA CONNECTION 400 V STAR CONNECTION 690 V
U1 v Wi ({Ui qﬂ ({m
\ \ N
L1 L2 L3 L1 L2 L3

316

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series - version

CONSTRUCTIONS 3BS'3S'3 LS 50 Hz

Rev. E

oM
|
|
I
|
I
8d2
9d3

L3
Motor Dimensions mm
Type pumps | kW | HP [Size| Type| d1 d2 | d3 | L3 M X h S E
Size |Standard
321256111 | 11| 15 | 80 19 | 33 | 43 M6x6 218 6 | 98
32160115 | 15| 2 B5
a2 90 24 | 39 | 53 27.3 . 110
3220030 | 3 | 4 |100
32:200/4.0 | 4 | 55 112] oy, 28 | 43 | 63 31.3 122
32-200/55 | 55 | 7.5
S22 0 T 132 38 | 58 | 84 413 10 | 145
40-12515 | 15| 2
ool o2 %0 | BS 24 | 39 | 53 27.3 . 110
40-160/30 | 3 | 4 100
40-160/4.0 | 4 | 55 [112 19 | 28 43| 83 46415 31.3 122
40-200/55 | 55 | 75 B35
g 22 132 38 | 58 | 84 413 10 | 145
40-200/11 11 | 15 160 42 | 63 | 114 453 12 | 178
50-125/2.2 | 22| 3 | 90| B5 24 | 39 | 53 27.3 110
50-125/3.0 | 3 | 4 |100 UNI 8
50-125/40 | 4 | 55 [112 28 | 43 | 63 M8X8 | 5gpg |313 122
50-160/55 | 55 | 7.5
50-160/7.5 | 7.5 | 10 |132 38 | 58 | 84 413 10 | 145
50-200/9.2 | 9.2 | 125
50-200/11 1 | 15 178
50-200/15 | 15 | 20 | 60 22 | 42 83 |14 =5 15 45.31 12 509
65-125/4.0 | 4 | 55 112 28 | 43 | 63 313 8 | 122
65-125/55 | 55 | 7.5 B35
65-125/75 | 7.5 | 10
R L R R LY. 19 | 38 | 58 | 84 | 16x15 413 10 | 145
65-160/9.2 | 92 | 125
65-160/11 1 | 15 178
65-160/15 1 15 | 20 |44, 42 | 63 453 | 12
65-200/15 | 15 | 20 ” 114 0 e (au
65-200/18.5 | 18.5| 25 :
65-200/22 | 22 | 30 |180 48 | 72 M10x10 51.8 | 14

317

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series - version

3LP 50 Hz

CONSTRUCTIONS 3 B P '3 P -

O

341

Rev. E

. I |
! < A —
o\ | / | li
= =
PUMP SIDE MOTOR SIDE

Motor Dimensions mm

Type pumps | kKW | HP | o o ' rvoe | D | H1 | H2

32-125/1.1 11 1.5 | 80 19 (218| 6

32-160/1.5 1.5 2

32-160/2.2 | 2.2 3 90 24 1213 8

32-200/3.0 3 4 100 28 1313

32-200/4.0 4 55| 112 )

32-200/55 | 55| 7.5

32-200/75 | 75 | 10 132 38 141.3] 10

40-125/1.5 1.5 2

40-125/2.2 | 2.2 3 90 24 1213 8

40-160/3.0 3 4 100

40-160/4.0 4 55| 112 28 | 31.3

40-200/55 | 55| 7.5

40-200/7.5 | 7.5 | 10 132 38 141.3] 10

40-200/11 1 15 | 160 42 1453 | 12

50-125/2.2 | 2.2 3 90 24 | 27.3

50-125/3.0 3 4 100 8

50-125/4.0 4 55| 112 B3 28 |31.3

50-160/55 | 55 | 7.5

50-160/7.5 | 7.5 | 10 | 132 38 [41.3| 10

50-200/9.2 | 9.2 | 12.5

50-200/11 1 15

50-200/15 15 20 160 42 1453 12

65-125/4.0 4 55| 112 28 |31.3| 8

65-125/55 | 55 | 7.5

65-125/75 | 7.5 10

65-160/7.5 | 7.5 10 132 38 413 10

65-160/9.2 | 9.2 | 12.5

65-160/11 1 15

65-160/15 15 20

65-200/15 15 20 160 42 1453 12

65-200/18.5| 18.5| 25

65-200/22 22 30 | 180 48 | 51.8| 14

318

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series - version

CONSTRUCTIONS 50 Hz

Rev. E

COUNTER FLANGE

ZINC-COATED STEEL
SN _N'Holes 218

F
E ‘
r D ‘ DN| D E FI H | HI| L M SN
’<—>‘ Standard | On request
_ HW 32[G11/4] 100 [140] 15 [, [ 67 [ 50
o5 I N 1 - 40|/G11/2] 110 [150/175| | 72 | 58 4
1 | N 50 G2 | 125 [165| 19 | 15 | 89 | 70
- 65|G21/2] 145 [185] 23 | 14 | 104 | 88
L 80| G3 160 [200] 24 | 16 [1175]/100| 8 4
COUNTER FLANGE
EN 1.4301 (AISI 304) / EN 1.4404 (AISI 316L)
SN N°Holes 918
E
T T - DN D E| F| G H | H1 SN
T ‘ ﬂ i Standard On request
‘ ':l% 32 [G11/4[100] 140 ] 76
(. | i 40 [ G11/2]110[ 150 | 81 | 4 | 1°° 4 -
5 | G ‘ 50 G2 [125/165] 96 | .. | 18
i ‘ 65 |G21/2[145] 185 | 116 -
F 80 G3 (160 200 ] 134 | 18 | 24 8 4
GASKET
DN M [ M1
32 38 82
40 50 93
50 60 107
65 80 125
80 90 140

Material : EPDM version for standard
FPM version for hot water maximum 110°C

319

% E2ARA EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 series - version

DIMENSIONS 3BM'3M'3LM 50 Hz

B Rev. E

D2
nl — ¢18 nl — 18
P2
DNM A
=
wn
V
L G J
A 15 il 1 M T
. =N © 6 i @
| I =~ ®
~— — ; \ AlR -
al a| & ‘ EmiEs &= KA /
1 | —
= N =
K EE N\
T I 1
‘ 4 - 915
N1
N2
Dimensions (mm) Weight
Model o | @ n1 o] 9| 0| 0|0 H3 Vv
DNA| P1 |[[1]|[2]| K1 | D1 [SA|DNM| P2 | K2 | D2 |SM| H | H1 | H2 | [3] [41] R |{W]|N1 M N2| A| B| C [3] [4] [ kof]
3M 32-125/1.1 (M) 252|112 140 140| 114 | 190|213 19.6
3M 32-160/1.5 (M) 139 408 | 231 PG13,5| 225
3M 32-16012.2 (M) 292|132 (160| 122 118 254 PG 13,5 246
3M 32-200/3.0 50 | 96 125|165 32 | 76 | 100 | 140 190 240 433 256 32.8
3M 32-200/4.0 134 458 39.5
3401 160 | 180 - 119 296 -
3M 32-200/5.5 153 80 | 477 | 276 PG 16 48.5
3M 32-200/7.5 14 520 57
3M 40-125/1.5 (M) 20.1
252|112 | 140 139 160| 114 | 210|213 408|231 PG 13,5
3M 40-125/2.2 (M) 122 PG 13,5 227
3M 40-160/3.0 433 28
292|132 | 160 190| 118 | 240|254 ——— 255
3M 40-160/4.0 41 - 16| 40 | 81| 110|150 134 70 458 35.1
3M 40-200/5.5 153 - 497|278| PG 16 - 48.8
3M 40-200/7.5 340 160 | 180 212| 139 | 265|296 | 540 224 56.2
3M 40-200/11 65 | 116 145 185 181 577 PG 21 67.5
3M 50-125/2.2 (M) 122 139 428 231 PG 135 PG 13,5| 2841
3M 50-125/3.0 2921132160 190| 138 | 240|254 |453 255 ’ 28.6
3M 50-125/4.0 134 478 35.2
3M 50-160/5.5 50 | 96 | 125|165 497|278| PG 16 49.1
340 180| 153
-
3M 50-20011 16 360 200| 181 ) N 582|239 | PG 21 ) 675
3M 65-125/4 160 139 212 483 253 40
3M 65-125/5,5 340 180 254 | 496 | PG 16 52
3M 65-125/7,5 150 275 58.5
3M 6516077 5 80 |134| 8 | 4 |160|200( 18| 65 | 115]| 145|185 95 149.5 | 280 540 52
3M 65-160/9,2 360 200 296 67
IV 65-160/11 177.5 593|356 | PG 21 756

[1] Standard

[2] On request

[3] Only for three phase
[4] Only for single phase

400

E2ARA EBARA PUMPS EUROPE S.p.A.



- vVersion

3 series

DIMENSIONS 3 B M '3 M '3 L M

CENTRIFUGAL PUMPS

Rev. E

401

ysanbai uQ [g]
pLepuels [1]

9€l 22/002-99 NE

L2l |02 0S¢ G'81/002-S9 N€

VL 12 9d ‘mm 001 |zzz S8l |GPL (GLL 8L |00C|09L| ¥ | 8 |VEL| 08 G1/002-G9 INE

€6 z1z S1/091-G9 NE

96 0. G912l | 96 9L |G8L|SYL| - |V |9LL]| S99 G1/002-0S NE
[T s IN|M| H |€H 2¢a|aoM|ed vs|ia | [[el|[1]] 1d [vNa

g |9 |Q g |9 Ly g | g 18poN

SUTSETY (wuw) suoisuawig

IH

T

¢H

14

Slg — ¢

N

o

VS

¢H

i —

S |

=

o

S

&

-]

WNd
Zd

NS

[4¢

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series - version

DIMENSIONS 3 BS '33 '3 LS

Rev. E

N2
(=] 00
R
Dimensions [mm]
Weight
Model 2| 2| 0| 2| 2|0 2|0 H3
kgf
oNAl P11 K1 | D1 lonml P2l K2 | D2 H | H1 | H2 1| @ N1T| M |N2| A | B|C| W V2 [kgf]
3S 32-125/1.1 (M) 252| 112| 140| 129| 150| 140| 114| 190| 213|430 | 118 23.1
3S 32-160/1.5 (M) | 50 | 96 | 125|165| 32 | 76| 100| 140 28.5
292|132 160 190 | 118|240 | 254
3S 32-160/2.2 (M) 324
477 PG16| PG13.5
3S 40-125/1.5 (M) 138|160 130 26.5
40 |81|110| 150|252 | 112 | 140 160 | 114 | 210| 213
3S40-125/2.2 (M) | 65 | 116| 145|185 29.6
38 50-125/2.2 (M) 50 |95|125|165| 292| 132| 160 190| 138| 240| 254| 497 32.9
[1] Only for three phase
[2] Only for single phase

% E2ARA EBARA PUMPS EUROPE S.p.A.



3 series - version

CENTRIFUGAL PUMPS

50 Hz

Rev. E

DIMENSIONS 3 BS '33 '3 LS

}senbai uQ [z]
piepuess [1]

v o1 s¢ lezz lo61 GL9[¥Sz[08Z |G 6YL [212]S6]00L Lol (9L [g8L]SvL[SLL] G9 [8L [002]09L]+ |8 [vEL] 08 | 0+/SZI-G9 SE
6'SY |Gcl 9d |9l Od 0G5 081|091 |ovE ] 0'%/002-2€ S€
T €927 12021091 lgzg | 76¢ |0¥C| 6L |06k |0L| 08 oot TF Ov) |00L |92 | 2€ |9l |G9L |SCL v | 96| 0S [oeinozze se
[16%] ZA IN [dfetfzififa v [eN] W [IN[M]Y [eH[ZH|IH] H [WS|za|exd [zd [WNalvs|ia | [[2l]T] 1d [vNa
0| 2|0 @ g |a| W |G| T| I1BPON
Wb (ww) suoisuawiqg
H H
NS
&
s — v
44 W vl % d i J 7 ¥
Of/ﬂ Sk
=
W ) |
- &
N

8le —

Lu

403

EBARA PUMPS EUROPE S.p.A.

=TV T



ries - version

386

DIMENSIONS 3 BS '33 '3 LS

CENTRIFUGAL PUMPS

Rev. E

1s8nbal uQ [¢]
pJepuess sy [|]

wow Mwm 80c1118 GgzelL ote G8L G¥L|SLL| G9 [8L |00Z|09L |V |8 |¥EL| 08 mumw”-mm%
002 Zov | 9l
L€l |62 9d |62 Od o61 | L8 00l 091 coL lsz1 | g6 | og G1/002-0S SE
JoL 9e8 oLl 0S2 oL |G8L|G¥L| - | ¥ |SLL| G9 | LL/00Z-0S SE
08l Z8¢|¥L |0SL|0LL 08 | OF L 1/002-0% S
(B3] | 2A IN 4709 M [d|eH[ZH|IH|H [NS|2a |2y |ed |WNa|vs|ia | [[g]|[L]] 1d [wNa
0| 0| 0| O gl @ W g @ [opolN
wbivpn (wwi) suoisuswiq
0lg 520!
(i24
0L 6l — ¥
. f | N
0O —10J S (11 B 1

CH

¢H

404

EBARA PUMPS EUROPE S.p.A.



ries - version

386

CENTRIFUGAL PUMPS

50 Hz

Rev. E

DIMENSIONS 3 BS '33 '3 LS

3senbai uQ [g]
psepuess [1]

0oL Tt [~ | - [esoec 6z ive] — [ - 016 ooz Z2i002-59 SE
L | 629d |629d 80z |558 | 0s¢ | 0ze 05z 6zz|08L | S0¥ 5'81/002-59 SE
o v |ose oo mie vz |oz|evw|POC TR 0z vz T
1 €29 aevl|  |s6 Gl |svl|siL| co |81 |ooz|oot| v |8 |veL| 08 | 2'6/091-69 SE
1££9) ooz|  |ooe 6/091-
oL . . §°2/091-59 SE
19 ) oerl love ot §1/521-59 SE
09 | 1z9d |129d 01z | | 992|912 viglsoL|  |ooe 22| |, 8 091 §'G/521-59 SE
16L €19 o0z] |09t 2'6/002-05 SE
969 soz| el 50z '2/094-0G SE
) - - €9 08k |0V g9y gz1| 96 | Og §'5/091-05 SE
szv | z ovzo6t| |s1[eselL. |ozs 0z 1oL 0'7/S21-05 SE
zy |9 €19d|910d 022 foyTooz |09t vz |¢7" [gpg|79¢ |0V | 8EL |06I z¢ [gy) |09} |CEH |26e s8l |svl o1L| go [ 0€/szi-08 SE
969 | \z0d [129d 02z| |9z |orz vie |9l |seo oo [soz| est |z12|%%| |8z |soz|ost |09l |ove ot | §£/00¢°0v S¢
ze9 05 ostlonelve | on §'6/00Z-07 SE
Sy | ovz|061 gsz|_ |oss 0z 191 0'7/091-07 S€
7 geiod|910d 022 (o poeoo eyt (oo vsT 8Ll o enr |00k |zeL |z | v1 e0s oo
VL | 7204 |129d 02205 |99z |91z v1e 591|519 008 ore 6L % 8z |coz|ost oo [ove | |ove|ooL| oz | ze so1 |5zl 96 | 0g | —.L00ccE Se
829 §'6/00Z-2€ SE
BT 2h | WA [d O[O [e1cT |7 1 4] a |0 8]V |eN| W [IN|M|d [vH|eH [2H [ tH | H |NS |20 |21 | 2d [ANG VS | 1a | ot [T ] 1d [vNa
g\ o|o| o g o| W | g o loPOI
Yoo AN wuw) suoisuswig
6 (ww)
1 il
T T
= 5
o
== +1
W VS
N M
IN 4 a 2 d
Slg — ¥ 7 7 1 d
| 1
N = ST —
M W thr i AW P \,
- w1
, 2|z le
N \ = B\ \ DA I -
000000000
—) z =2 = |4
o ol
/ | ) i 2
v WNT
cd
|lg — (U |lg — LU k

405

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series - version

DIMENSIONS 3BP'3P'3LP 50 Hz

ﬁ =N
| 2
== 7
s
H3
1 4l
. T -
_ g@ F j
R -
: ] T
- ‘\‘ e, ‘
ST 2
— | 1| e
406

% E2ARA EBARA PUMPS EUROPE S.p.A.



ries - version

386

CENTRIFUGAL PUMPS

50 Hz

Rev. E

DIMENSIONS 3 B P '3 P '3 L P

aseyd a|Buis 1o} AluQ [¥]
aseyd aalyy Joj AluQ [g]

sanbai uQ [g]
piepues sy [|]

Z8l 09¢ | 0S¥ | OL¥ ZLL|SLLL 99z 22/002-G9 d€
6€l 159 |0ZLL Gzz | 08l | GS¥ G'81/002-G9 d€
12l | 626d | 62 Bd |000L 008 §1/002-G9 d€
6Ll 08 | 0cv | 08¢ €19 (9201 | 962 ove G1/091-G9 d€
vl 001 11/091-G9 d€
i 56 002 oL¥y G8L | S¥L [GLL| G9 | 8L |00z |[09L| ¥ | 8 |vEL| 08 '6/09169 dt
& 1z6d | 1264 | 0s8 059 0S¥ 861 — 5 LI0or9 ot
16 00¢ | 06€ | 0S€ €16 G'//S21-G9 dE
06 414 - 08l 06¢ G'G/G21-G9 dE
28 |g'cl bd| 91 Bd | 062 065 | 08 |88€ | 158 19l o9t ] o ¥/SZ1-G9 dE
rack 6z Bd | 62 bd (0001 | OSE | OZY | 08€ | 008 €19 (9201 0ok e §1/00c05
§LLL 00z oLy 11/002-0S d€
0ok 00l |88¥% | 196 | 962 2'6/002-0S d€
S¥6 |1zbd | 1ZzBd | 058 059 861 G'2/091-0G €
o8 0S¥ | €16 08l 06€ GolL |Gzl | $6 | 0S 5'5/09106 df
G'l8 00¢ ) 06€ | 05¢ 88¢ | 158 [Xe] ¥/G21-0G d€
6. |g'¢l Bd| 91 Bd | 052 06G | 08 |99¢ | 628 | ¥S¢ Gl |09 |2El | 2ve €/S21-0G d€
GL /1€ | 082 09l | 8el g8l | svl SiL | g9 | (W) zz/szi-05 de
Ll | 626d | 62 6d |000L| 0EE | OZ¥ | 08E | 008 €19 (9201 9ve 11/002-0% d€
S'v6 00} 962 08l | 091 |06€ G'//002-0% d€
o8 126d | 1Z6d | 058 woe | ose | se 059 05t | €16 _ |86l N ] . 56100207 It
S'v9 98¢ | L€8 L9l 0SL | OLL | 08 | OF 7/091-0% d€
SLL |, 054 065 99t | 608 | ¢ gpy | 09 | CEb | eve €/091-0% d€
g (9€bd|oLbd 08 (W) 2252107 de
P 0LZ | 0SZ | OvE | 00E | 0GS L€ | 092 | €L2 09l | 8€L |O¥L | ZLL | 20E . N S1/521-07 dt
866 126d | 1z 6d | 0g8 0G9 | 00} | 0S¥ | €68 861 mw\oom.mmn_m
88 08 G'G/002-2€ dE
L gsc | 1e8 | ¢ T [jgy |08k |09 j06E ¥/002-2€ d€
89 00€ | 06€ | 05€ 99¢ | 608 gvl ovb | 0oL | sz | ze g9l | szl s6 | 05 £/002-2€ de
G'€S |s'cl Bd| 91 Bd 0sz 064 08 (W) 2'z/091-2€ d€
S L1€ | 092 | ¥52 09l | 8L |09L | 2€L |2Pe (N S1/09128 dt
Gey 0LZ | 0SZ | ove | 00E | 0G5 zlz|sLL|¢ele 0SlL | 62L |0Vl | 2LL | 20E () L L/SzL-2E de
[6x] ZA IN [ L [eN[eNIN[ I Jafala v [d[W[El[zH]H]H|[WS[za|ad][ed WNa[vs [ita ] [&I]OIT]1d[vNa
WBIOM €H | 2|2 |@ o | @ L o | @ [ePon

(ww) suoisuswig

407

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series - version

PACKING AND WEIGHT 3BM'3M'3LM 50 Hz

PACKING [mm] | WEIGHT| PACK
Pump type kol TYPE

X Y z
32-125/1.1 450 | 250 300| 21.5
32-160/1.5 430 | 280] 330 24.2
32-160/2.2 27.3 1
32-200/3.0 34.9
32-200/4.0 500 | 330390 42.3
32-200/5.5 53.2
32-200/7.5 580 | 350|480| 65 2
40-125/1.5 22.3
40-125/2.2 480 1250300 24.7 1
40-160/3.0 490 | 280! 340 30
40-160/4.0 37.6
40-200/5.5 54.5
40-200/7.5 580 | 350/ 480 61.6 2
40-200/11 700 | 350(490| 73.8
50-125/2.2 30.8
50-125/3.0 490 | 280 340| 31.5 1
50-125/4.0 37.6
50-160/5.5 54
50-160/7.5 580 | 350/ 480 61.1
50-200/9.2 67.5 2
50-200/11 700 1350490 73.5
50-200/15 880 | 390| 520| 100
65-125/4.0 500 | 330(390| 40 1
65-125/5.5 580 | 350|480| 52
65-125/7.5 58.5
65-160/7.5 700 | 350 | 490 62
65-160/9.2 67
65-160/11 75.6 2
65-160/15 93
65-200/15 880 | 390! 520 114
65-200/18.5 127
65-200/22 136

TYPE 1
| \
X
TYPE 2

408

=TV T

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series - version

PACKING AND WEIGHT 3 BS'3S'3 LS 50 Hz

Pump type PACKING [mm] | WEIGHT| PACK
[kgf] TYPE
X Y z
32-125/1.1 450 | 250|300 23.6 1
32-160/1.5 334
32-160/2.2 580 | 3501 480 35.9
32-200/3.0 47.5
32-200/4.0 700 | 350|490 48.8
32-200/5.5 65.3
32-200/7.5 71.7
40-125/1.5 28.9
40-125/2.2 580 | 350/ 480 33.3
40-160/3.0 41.9
40-160/4.0 700 | 350 490 45.9
40-200/5.5 67.4
40-200/7.5 73.8
40-200/11 880 | 390|520| 114
50-125/3.0 43
50-125/4.0 46.5 2
50-160/5.5 700 | 350|490| 67.8
50-160/7.5 73.6
50-200/9.2 83.7
50-200/11 115
50-200/15 880 | 390 520 136
65-125/4.0 47
65-125/5.5 60
65-125/7.5 700 | 3501490| 67
65-160/7.5 70
65-160/9.2 77
65-160/11 880 520 76
65-160/15 970 580( 104
65-200/15 880 | 390|520| 128
65-200/18.5 141
65-200/22 o70 580 160

Rev. E

TYPE T

TYPE 2

‘_
]
—
ye

409

=TV T

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series - version

DIMENSIONS AND WEIGHT 3 B P'3 P'3 LP 50 Hz

Rev. E

= t PACKING [mm] WEIGHT
ump type [k
X Y z

32-125/1.1 302
32-125/1.1 M 715|340 312 435
32-160/1.5 51
32-160/1.5 M
32-160/2.2 760 342 535
32-160/2.2 M 390 '
32-200/3.0 809 390 68
32-200/4.0 831 72
32-200/5.5 88
32-200/7.5 913 408 99.8
40-125/1.5 302
40-125/1.5 M 760 340 322 48.5
40-125/2.2 760 302 51
40-125/2.2 M 322
40-160/3.0 809 342| 775
40-160/4.0 831 390 343| 64.5
40-200/5.5 913 408 89
40-200/7.5 94.5
40-200/11 1076 | 420 | 456| 117
50-125/2.2

780 75
50-125/2.2 M 342
50-125/3.0 829 79
50-125/4.0 851 1390(343| 81.5
50-160/5.5 913 408 89
50-160/7.5 94.5
50-200/9.2 951 410| 100
50-200/11 117.5

1076 | 420 | 456
50-200/15 1254
65-125/4.0 851 390| 82
65-125/5.5 408 90
65-125/7.5 913 | 390 97
65-160/7.5 410 103
65-160/9.2 951 107
65-160/11 114
65-160/15 1076 420 456 119
65-200/15 476 127
65-200/18.5 1120 139
65-200/22 1175] 450 496| 182

NOTE:3P pumps don’t have packing

410

=TV T

EBARA PUMPS EUROPE S.p.A.



]
3 series - version

CENTRIFUGAL PUMPS

TECHNICAL DATA

o0 Hz

Rev. E

Pump type Power Motor Capacitor Input Full load current | Locked rotor current
Single Phase Three Phase Single Phase kW] [A] [A]
50 Hz 50 Hz KW HP | Size [ Type| o |\ |Single Threel o0\ 1 400 v| 690 v| 230 v| 400 v| 690 v
Phase|Phase
3M 32-125/1.1 M | 3M 32-125/1.1 | 1.1 | 1.5 315 450 [ 147 | 145 5 | 29 33 | 19
3M 32-160/1.5 M | 3M 32-160/1.5 | 1.5 %0 40 | 450 [2.09| 2 | 59 | 34 33 | 19
3M 32-160/2.2 M | 3M 32-160/22 | 2.2 | 3 50 | 450 | 277 | 2.8 | 83 | 48 - | 59 | 34 -
3M 32-200/3.0 ) 37 | 118 | 6.8 86 | 49
- 3M 32-200/4.0 5.5 | 100 - - - 5 | 156 | 9 135 | 77
3M 32-200/5.5 | 5.5 | 7.5 | 112 6.8 - | 118 68 - | 104 | 60
3M 40-125/1,5M | 3M 40-125/1.5 | 1.5 40 | 450 [2.01| 2 | 59 | 34 33 | 19
3M 40-125/2.2 M | 3M 40-125/2.2 | 2.2 90 50 | 450 | 29 | 28 | 83 | 48 59 | 34
3M 40-160/3.0 37 [ 118 68| | 86 | 49 )
3M 40-160/4.0 55| 100 | - 51 | 15.9 | 9.2 135 | 77
- 3M 4020055 | 55|75 - - - | 67 1.1 | 6.4 104 | 60
3M 40-200/7.5 | 7.5 | 10 88 | - | 151 | 87| - | 132 | 77
3M 40-200/11 | 11 | 15 [ 132 1.5 20 | 116 169 | 98
3M50-12522M | 3M 50-125;22 | 22| 3 | 50 | 450 | 273 | 28 | 81 | 47 59 | 34
3M 50-125/3.0 4 37 [ 118] 68 | - 86 | 49 -
3M 50-125/4.0 5.5 | 100 51 [ 15.9 | 9.2 135 | 77
3M50-160/55 | 55| 75| | 6.7 115 | 6.6 104 | 60
- 3M 50-160/7.5 | 7.5 | 10 - - -] 91 155 | 9 132 | 77
3M50-2009.2 | 92 125 . 109 | - | 174 | 10 - | 138 | 79
3M 50-200/11 | 11 | 15 13 22 | 127 169 | 98
3M 50-200/15 | 15 | 20 | 160 175 313 | 18 180 | 104
3M 65-125/4 4 [ 55] 100 469 [ 138 8 - | 123 ] 71 -
3M 65-125/5.5 | 5.5 | 7.5 6.41 1 | 6.3 95 | 55
3M 65-125/7.5 112
75| 10 8.72 149 | 86 124 | 72
3M 65-160/7.5
) 3M65-160/9.2 | 92125 | ) ] 109 20.8 | 121 128 | 74
3M 65-160/11 | 11 | 15 13 - 27 | 156 | - | 169 | 95.6
3M 65-160/15
15 | 20 17.7 30.5 | 17.6 180 | 104
3M 65-200/15 160
3M 65-200/18.5 | 18.5| 25 20.6 36.9 | 21.3 272 | 157
3M 65-200/22 | 22 | 30 243 408 | 23.5 320 | 185
500

=TV T

EBARA PUMPS EUROPE S.p.A.



]
CENTRIFUGAL PUMPS 3 series - version

TECHNICAL DATA 50 Hz
Rev. E
Pump type Power Motor Input Full load current Locked rotor current
Three Phase kW] [A] (Al
50 Hz KW HP | Size | Type | Three| 550\ | 400 v | 690 v | 230 v | 400 v | 690 v
Phase
3832-1251.1 [ 1,1]1,5| 80 14 | 48 | 2,8 229 | 132
383216015 [15) 2 | | BS| 19 | 59 | 34 294 | 17
3532-160/2.2 |22/ 3 27 | 88 | 51 - | 81 [ 352 -
3532200/3.0 | 3 | 4 | 100 36 | 104 6 75.9 | 43.8
3532200040 | 4 |55 112 | B35| 47 | 147 | 85 119.3 | 68.9
3532-200/55 |55 75| 132 6,4 - 1 | 64 | - 66 | 38.1
3540125115 |15 2 | [ | 19] 59 [ 34 294 | 17
3540-125/2.2 | 22] 3 27 | 88 | 5.1 61 | 35.2
3540-160/3.0 | 3 | 4 [ 100 36 | 104 | 6 "~ | 759 | 438 |
3540-160/14.0 | 4 |55/ 112 47 | 147 | 85 119.3 | 68.9
38 40-20055 | 55| 75| . | B35| 64 1 | 6.4 66 | 38.1
35 40-200/75 |75 10 8,6 - | 153 ] 88 | - | 979|565
35 40-200111 | 11 | 15 | 160 12,4 22 | 127 152 | 87.8
3550-125/3.0 | 3 | 4 | 100 36 [104] 6 - | 759 ] 438 -
3550-125/4.0 | 4 | 55| 112 47 | 147 | 85 - |1193] 689 | -
35 50-160/5.5 |55/ 7,5 6,4 11 | 64 66 | 38.1
3550-160/7.5 |7,5] 10 | 132 | B35 | 86 153 | 8.8 97.9 | 56.5
35 50-200/9.2 | 9,2 12,5 106 | - | 176 102 - |1285] 74.2
3850200111 | 11 [ 15| 12,4 22 | 127 152 | 87.8
38 50-200/15 | 15 | 20 16,7 29 | 16.7 235 | 135.7
3S 65-125/4 4 [ 55] 112 47 [ 147 ] 85 | - [1193] 689 -
3565-125/55 |55/ 7,5 6,4 1 | 63 66 | 38,1
3S 65-125/7.5
sesaors | 7% 10| 132 8,6 153 | 88 97,9 | 56,5
3565-160/9.2 | 9.2 (12,5 535 | 106 17,6 | 10,2 128,5| 74,2
3565-160/11 | 11 | 15 124 | - 22 | 127 - | 152 | 878
3S 65-160/15
15 | 20 | 160 16,7 29 | 16,7 235 | 1357
3S 65-200/15
3S 65-200/18.5 [18,5] 25 20,5 34,5 | 19,9 262,2| 151,4
3565200122 | 22 | 30 | 180 24,2 41 | 236 303,4| 1716

501

% E2ARA EBARA PUMPS EUROPE S.p.A.



]
CENTRIFUGAL PUMPS 3 series - version

TECHNICAL DATA 50 Hz
Rev. E
Pump type Power Motor Input Full load current Locked rotor current
Three Phase kW] [A] (Al
50 Hz KW HP | Size | Type [ Three| 550\ | 400 v | 690 v | 230 v | 400 v | 690 v
Phase
3P 32-12511.1 | 1,1 15| 80 1,4 | 48 | 2.8 22.9 | 13.2
3P 32-160/1.5 | 1.5 2 | 1,9 | 59 | 34 294 | 17
3P 32-160/2.2 | 22| 3 g3 | 27| 88 | 51 - 61 | 35.2 -
3P 32-200/3.0 3 | 4 | 100 36 | 104 | 6 75.9 | 43.8
3P 32-200/4.0 4 | 55| 112 47 | 147 | 85 119.3 | 68.9
3P 32-200/55 | 55| 7,5| 132 6,4 - 11 6.4 - 66 | 38.1
3P 40-125/1.5 | 15| 2 90 19 | 59 | 3.4 29.4 | 17
3P 40-125/2.2 |22 3 27| 88 | 5.1 61 | 35.2
3P 40-160/3.0 3 | 4 | 100 36 | 104 | 6 - | 759 | 438 )
3P 40-160/4.0 4 |55 112 | B3 | 47 | 147 | 85 119.3 | 68.9
3P 4020055 | 55| 75| ., 6,4 11 6.4 66 | 38.1
3P 40-200/7.5 | 7,5| 10 8,6 - | 153 | 88 - | 979 | 56.5
3P 40-200/11 11| 15| 160 12,4 22 | 127 152 | 87.8
3P 50-125/3.0 3 | 4 | 100 36 | 104 | 6 75.9 | 43.8
3P 50-125/4.0 4 | 55| 112 47 | 147 | 85 "~ |119.3] 68.9 )
3P 50-160/5.5 | 55| 7,5 6,4 11 6.4 66 | 38.1
3P 50-160/7.5 |75 10| 132 | B3 | 86 153 | 8.8 97.9 | 56.5
3P 50-200/9.2 | 9,2 /12,5 10,6 - | 176 | 10.2 - 1 1285| 74.2
3P 50-200/11 (AIREN Uy 12,4 22 | 127 152 | 87.8
3P 50-200/15 15 | 20 16,7 29 | 16.7 235 | 135.7
3P 65-125/4 4 | 55| 112 47 | 147 | 85 - |[1193] 689 | -
3P 65-125/55 | 55| 7,5 6,4 11 6,3 66 | 38,1
3P 65-125/7.5
75| 10 | 132 8,6 153 | 8,8 97,9 | 56,5
3P 65-160/7.5
3P 65-160/9.2 | 9,2 /12,5 g3 | 106 17,6 | 10,2 128,5| 74,2
3P 65-160/11 11 | 15 12,4 - 22 | 12,7 - 152 | 87,8
3P 65-160/15
15 | 20 | 160 16,7 29 | 16,7 235 | 135,7
3P 65-200/15
3P 65-200/18.5 |18,5| 25 20,5 34,5 | 19,9 262,2 | 151,4
3P 65-200/22 22 | 30 | 180 24,2 41 | 23,6 303,4 | 171,6

502

% E2ARA EBARA PUMPS EUROPE S.p.A.




	3 series - version
	Contents
	Contents

	Specification
	Specification 3M
	Specification 3LM
	Selection chart
	Selection chart
	Selection chart
	Selection chart
	Perf. chart 32
	Perf. chart 32-125
	Perf. chart 32-160
	Perf. chart 32-200

	Perf. chart 40
	Perf. chart 40-125
	Perf. chart 40-160
	Perf. chart 40-200

	Perf. chart 50
	Perf. chart 50-125
	Perf. chart 50-160
	Perf. chart 50-200

	Perf. chart 65
	Perf. chart 65-125
	Perf. chart 65-160
	Perf. chart 65-200
	Perf. chart 65-125 Bronze
	Perf. chart 65-160 Bronze
	Perf. chart 65-200 Bronze


	Constructions
	Sectional view  3BM-3M-3LM
	Constructions  3M-3LM (no 65 version)
	Constructions 3BM-3M-3LM (65 version)
	Sectional view  3BS-3S-3LS
	Sectional view 3BS-3S-3LS
	Constructions  3S-3LS (no 65 version)
	Constructions 3BS-3S-3LS (65 version)
	Sectional view  3BP-3P-3LP
	Constructions  3P-3LP (no 65 version)
	Constructions 3BP-3P-3LP (65 version)
	Bearings size
	Mechanical seal
	Mechanical seal ( HS version)
	Mechanical seal (HS version) Ø 30
	Mechanical seal ( L version)
	Mechanical seal ( L version) Ø 30
	Diagram and electrical connections
	Contructions 3BS-3S-3LS
	Contructions 3BP-3P-3LP
	Counter flange

	Dimensions
	Dimensions  3BM-3M-3LM
	Dimensions  3BM-3M-3LM
	Dimensions  3BS-3S-3LS
	Dimensions  3BS-3S-3LS
	Dimensions  3BS-3S-3LS
	Dimensions  3BS-3S-3LS
	Dimensions  3BP-3P-3LP
	Dimensions  3BP-3P-3LP
	Packing and weight 3BM-3M-3LM
	Packing and weight 3BS-3S-3LS
	Dimensions and weight 3BP-3P-3LP

	Technical data
	Technical data  3M-3LM
	Technical data  3S-3LS
	Technical data  3P-3LP



	Rev: 
	 E: Rev. E



